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Question Number : 1 Question Id : 5038909841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

F6P, G7Q, H8R, ?
Options :

1. ¥ I9S

2. % BI10ON

3. # 111K

4. % S9B

Question Number : 1 Question Id : 5038909841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau e famed & 9, 30ft # g ue & 31d Y

F6P, G7Q, H8R, ?
Options :

1. ¥ 19S

2. % BION

3. # 111K

4. % SOB

Question Number : 2 Question Id : 5038909842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which letter will replace the question mark (?) in the following series.

M,N,O,L,Q,J,?,H
Options :

1.¥S

2. % R

3. % K

4. %]

Question Number : 2 Question Id : 5038909842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad siaar & &1 91 3eR Uy-RIg (2) & ufaifid s

M,N,0O,L,Q,J, 2, H
Options :

1.¥S

2. % R

3. K



4. %]

Question Number : 3 Question Id : 5038909843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the odd one out.

Options :

1. ¥ Sonnet

2. # Metaphor

3. % Simile

4. ¥ Hyperbole

Question Number : 3 Question Id : 5038909843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ELERIGERY

Options :

1.« YT

2. ® ¥(Uh

3. % 3UHI

4. % Jfa=rfe

Question Number : 4 Question Id : 5038909844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.

Books : Knowledge : :
Options :

1. # School : book

2. # Neck : shirt

3. % Money : Luxuries



4. # Coat : pocket

Question Number : 4 Question Id : 5038909844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, idu e fawedl o 9 Ifd <sg o1 gl
ydsd A

Options :

1. # foerey : fodae
2. % TGq : T

3. ¢ ¢ : faefydn
4. % Pl : 9

Question Number : 5 Question Id : 5038909845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

SAME : VCNE :: GAME : ?
Options :

1. # JNCE

2. % JENC

3. ¥ JCNE

4. % KCNIJ

Question Number : 5 Question Id : 5038909845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T faepedl § U Sl &Rl &1 =g &1 |
SAME : VCNE :: GAME : ?

Options :



1. ®* IJNCE
2. # JENC
3. ¥ JCNE
4. % KCNJ

Question Number : 6 Question Id : 5038909846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain coded language, MAP is coded as 30 and TIN is coded as 43, then which of the following will be the code for HUT?
Options :

1. % 53

2.% 33

3.9 49

4. % 67

Question Number : 6 Question Id : 5038909846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ST B HINT T, MAP &1 30 3R TIN B 43 & U H Bifed a1 SI1a 7, Ot Fefafed 3 § HUT &1 Drs 1 gRM?
Options :

1. * 53

2. % 33

3.9 49

4. %= 67

Question Number : 7 Question Id : 5038909847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of 25 children facing South, R is 16th from the right end and B is 18th from the left end. How many children are there between R and B?
Options :

1. %5

2.%6



3.% 4
4.7

Question Number : 7 Question Id : 5038909847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Ufad & 25 T3 GRT B SR TE fFA GURI RS BR Y 16d WA TR IUTB AL BR Y 187 ”MF W I R 3R B & & fobva 9 82
Options :

1. %5

2.%6

3.% 4

4.7

Question Number : 8 Question Id : 5038909848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons A, B, C, D, E and F are walking in a line. C is ahead of B. D is behind A but ahead of C. E is behind A but ahead of D. F is ahead of
A. Who is walking on the extreme back ?

Options :
1.¥B
2. % C
3. % F
4. %D

Question Number : 8 Question Id : 5038909848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BEARTA,B,C, D, EARFIG A HTAREI C,BF M BID, AT IS S hdCHF IMBIE AT IS gD F AMGIFLAS
3 3| Ied 1S B 90 @7 2

Options :

1.¥B

2. % C



3. % F
4. % D

Question Number : 9 Question Id : 5038909849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below are given two statements followed by two conclusions. You have to take the two given statements to be true even if they
seem to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from the two given
statements, disregarding commonly known facts.

Statements:
All books are boxes.
All boxes are banks.

Conclusions:
I. Some books are banks.
I1. All books are banks.

Options :

1. # Only conclusion I follows

2. % Only conclusions II follows

3. % Both conclusions I and II follow

4. % Neither conclusion I nor II follows

Question Number : 9 Question Id : 5038909849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 feu Tu Uy & &) Y= SR 3P a1¢ ) sy AT T § | et 3T U SuHl ol I AT | Y € d gdad at ¥ e udlid gid g
HlﬁflﬁigﬁaﬁWWWW%WWWﬁ@ﬁ-WWWW$@WWﬁW@WW%,H]%WHQH
RN

Y.

i} fpars, ST |
gt 9T, 95 g1
ﬁWﬁf:



1. $S fordd, 6 |

1. T frars, §& g

Options :

1. % Had (sHY | 3T HRT §

2. % Had (BN 11 IR0 Hal §

3. ¢ QI SR 1 3R 11 SRR $H1d §

4. % Fq e 1 IR T E 11 SRRV IR §

Question Number : 10 Question Id : 5038909850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below are given two statements followed by two conclusions. You have to take the two given statements to be true even if they
seem to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from the two given
statements, disregarding commonly known facts.

Statements:
I. Some pens are books.
I1. All books are temples.

Conclusions:
I. All temples are pens.
II. Some pens are temples.

Options :

1. # Only I follows

2. % Only II follows

3. ¥ None follows

4. % Both I and II follow

Question Number : 10 Question Id : 5038909850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HY:
1. $S HaH, JK® g

1. g g, HfeR € |

BT

1. 9 HfeR, FaA g

IL. $B Had, AR 8|

Options :

1. % $Had | IR0 HRAT §

2. ¢ Had 11 3IERU BT §

3. % I3 IR0 Tg] IR §

4. % 1 3R 11 GH SIERUI HRd §

Question Number : 11 Question Id : 5038909851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statements:
A<M<D=I>W>02>T

Conclusions:
IL.M<O
I.D>T

Options :

1. # Both I and II follow

2. # Neither I nor II follows
3. % Only II follows

4. # Either I or II follows

Question Number : 11 Question Id : 5038909851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

feu Uy A, = A 3w 3raudl & o Tdy ol <xiar T 81 HU & 915 &l ey fau mu g1 feu U 99 & 3nyR R st &
T HIfo SR Ifed IR H! g

DHY:
A<M<SD=I2W>02>T

fpy:
IL.M<O
II.D>T

Options :

1. % 1 3R 11 GH 3I¥RUI HRd §

2. % AN 3R A 8 11 SR Rl §
3. ¥ A I 3TERU BRAT S

4. % U1 711 SFAR0T Rl §

Question Number : 12 Question Id : 5038909852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set in which the numbers are related in the same way as are the numbers of the following set.

(8,12, 24)
Options :

1. ¥ (6, 10, 20)
2. % (12,20, 40)
3. % (6,10, 18)
4, % (6,18,27)

Question Number : 12 Question Id : 5038909852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T &1 99 BHiford fored T I3t ave H Haifdid g for R Tt e fau 70 9= & oo & 9wfRid 5|




(8,12,24)
Options :
1. ¥ (6, 10, 20)
2. % (12,20, 40)
3. % (6,10, 18)
4. % (6,18,27)

Question Number : 13 Question Id : 5038909853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

3,11,38,102, ,443
Options :
1. ¥ 227
2. % 237
3. % 247
4. % 217

Question Number : 13 Question Id : 5038909853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 <t et 9of o e e 1 S

3,11,38,102, 443
Options :
1. ¥ 227
2. % 237
3. % 247
4, % 217

Question Number : 14 Question Id : 5038909854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates the best relationship among.

“Minutes, Days, Months"
Options :

OF

3.¢

4, %

Question Number : 14 Question Id : 5038909854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i U g Al 4T 7T Fegafl/faaRl o1 axiid &, 1 98 IR SHTd 1 X Sl (9 § o 9gaR G D! G|



Options :

4. %

Question Number : 15 Question Id : 5038909855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Rhombus represents Physics, Rectangle represents Chemistry and circle represents Biology. Which set of letters
represents all three?



e] £
g
b d
c
Options :
1. % ¢
2. % f
3. ¢
4. % d

Question Number : 15 Question Id : 5038909855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad srefa 8§, Traqys Wifae fagm &t gwifar 8, smad T fagm &t gwifar 8 $iR g Shafas &1 g=iiar g1 31&Rl &1 S a1
g ol Bl I 82

Options :
1. % ¢
2. % f
3. ¢
4. % d



Question Number : 16 Question Id : 5038909856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sunil started his journey towards the north to reach his office. After reaching the office he turned 180° in a clockwise direction and then 45° in an
anticlockwise direction. Which direction is he facing now?

Options :
1. # North-West
2. ¥ South-East
3. % West
4. ¥ South-West

Question Number : 16 Question Id : 5038909856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 7 3 HATAg db Uga & il SR Bt 3R 30 a1 RE &1 | Hrfad Ugad & d16 98 180° SfeUNad (el @) fG=m # &R
45° A (TST DI [AURI) fa= & gSa1 3| 3@ a8 fovd fa=m 1 3R I 52

Options :

1. % IR -UigH

2. ¢ Gfagd

3. % Uigw

4. % GlEuruigm

Question Number : 17 Question Id : 5038909857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the figure that is different from rest.
Options :

/\




OO0

V<
100

Question Number : 17 Question Id : 5038909857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I TP BT I DX Sl AV Y 3T B

Options :

/\




OO0

V<<

04

Question Number : 18 Question Id : 5038909858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out from amongst the four alternatives as to how the pattern would appear on the sheet when the sheet is folded at the dotted line and is
punched as given.

Ll ETH g
I I
Options :
L]
L] L]
L ] L I




LA R I N L |

Question Number : 18 Question Id : 5038909858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR fawmedl § QU8 1d &% fob e W [Fdlar a1 &1 /s wR 3R fou 10 oruR Bf%d fou M w g8 2ie w Fa i 3

Options :

1 ‘&? L



Question Number : 19 Question Id : 5038909859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Question figure:

Qy?

Options :




Question Number : 19 Question Id : 5038909859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DIF-TT IR MHI, T MBI & Yot Bl R B



Wea AT

7
7
7l IS

Options :

2.¢¥

3. ®

Question Number : 20 Question Id : 5038909860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many triangles are there in the given figure?

Options :
1. ® 18
2. % 24
3.9 26
4. % 28

Question Number : 20 Question Id : 5038909860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1S el # feba Byl 82

Options :
1. % 18
2. % 24
3.9 26
4. % 28

General Awareness
Group Number : 2
Group Id : 503890247



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 503890383
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890452
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5038909861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following places is known as the death place of Mughal King Shahjahan?
Options :

1. * Taj Mahal

2. % Agra Fort

3. * Fatehpur Sikri

4. * Red Fort



Question Number : 21 Question Id : 5038909861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 for RIM &1 i 1ol AeSTa! &t Jod R & &g H ST Si1dl 82
Options :

1. #® dINT Hed

2. ¥ RI DT fbel

3. % dgQR Uit

4. % e foar

Question Number : 22 Question Id : 5038909862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Mughal Rulers is known for building the Jahangir Mahal?
Options :

1. # Jahangir

2. % Shah Jahan

3. % Aurangzeb

4. ¥ Akbar

Question Number : 22 Question Id : 5038909862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed § I &I 91 Iid U ek Hed & 01 o o ST i 82
Options :

1. % S8R

2. % QQSTEl

3. % IR

4, ¢ HhNR

Question Number : 23 Question Id : 5038909863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Where was India's first cotton mill, known as the Fort Gloster Mill, established?
Options :

1. ¥ Calcutta

2. ¥ Mumbai

3. % Surat

4. % Daman

Question Number : 23 Question Id : 5038909863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd P Ugell Hury e, o Wi Teiiex el & =19 T ST ofldT @, el RITUd &1 T8 2
Options :

1. ¥ ddhdl

2. % a3

3. % RA

4. % T

Question Number : 24 Question Id : 5038909864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following phrase is known for the difference between the value of exports and value of imports of goods of a country in a given
period of time?

Options :

1. # Balance of Exports

2. ¥ Balance of Trade

3. # Balance of Foreign Trade

4. % Balance of Difference

Question Number : 24 Question Id : 5038909864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafaRed & I &I 91 areier U [T oafy & fsf <=1 & 11a & fafd & 9ot 3R ST & Jed & did 3R o forg ST SffelT 82
Options :

1. ® faiq &1 dqe

2. ¥ AR BT A

3. % {441 IR Hge

4. % SR D1 HAT

Question Number : 25 Question Id : 5038909865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is it called when in a fixed exchange rate system, the government action increases the exchange rate?
Options :

1. # Revaluation

2. ¥ Devaluation

3. # Depletion

4, % Evyaluation

Question Number : 25 Question Id : 5038909865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

od U (AfEd faesht faf g @ vl § IRPR S1aTs & Aread 3 fafma ax gt 8, Y T8 SRaTS &) o Hgl oildl 82

Options :

1. % Qg
2. ¢ A
3. % Rfgaeeor

4. ® b

Question Number : 26 Question Id : 5038909866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a malleable metal?



Options :

1. ¥ Zinc

2. % Sulphur

3. % Phosphurus
4. # Oxygen

Question Number : 26 Question Id : 5038909866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prafied & § P-4 T aeiar og 32
Options :

1. ¢ i

2. % e}

3. % BRBRY

4. % SIS

Question Number : 27 Question Id : 5038909867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many naturally occurring elements are provided in the modern periodic table?
Options :

1. * 118

2. % 108

3.¥ 94

4. % 96

Question Number : 27 Question Id : 5038909867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3MYfe 3MTad TRuft & Ui U ¥ U o arel fha ded fau T 82

Options :




1. * 118
2. % 108
3.¥ 94
4. % 96

Question Number : 28 Question Id : 5038909868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sardar Sarovar Dam is built on which of the following rivers?
Options :

1. ¥ Narmada

2. # Ganga

3. # Godavari

4. % Yamuna

Question Number : 28 Question Id : 5038909868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGR WIR Ffy FAafefed & 9 frg 7dl w s i g2
Options :

1. ¥ THaI

2. % T

3. % Tarad

4. % gH-r

Question Number : 29 Question Id : 5038909869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a feature of Intensive Subsistence agriculture?
Options :

1. ¥ It is practised in areas of low population



2. # Itis a labour intensive farming
3. % High doses chemical inputs are used

4. ® There is enormous pressure on agricultural land

Question Number : 29 Question Id : 5038909869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead & @ o T ShifawT HiY o faivdr 78 g2

Options :

1. ¥ SHYBR &1 SN I &1 § 1 St & SfeT YfH IR ST481 1 Gald HH el &
2. % TG Ueh HH-ITG Gl &

3. % 3 T A Sa-IM™d Ha=T BT WRINT fohar ST §

4. % Py Y IR 9gd 3% ga1d 3

Question Number : 30 Question Id : 5038909870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which was the first site to be discovered from the Indus Valley Civilization?
Options :

1. ® Mohenjodaro

2. ¥ Harappa

3. # Banawali

4. ® Dholavira

Question Number : 30 Question Id : 5038909870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TTET Fgar H Wil S aTe Ugal RId DI 1 Y12
Options :

1. % HgTeligel
2.« BSWI




3. % gAqTC!
% YITaRT

Question Number : 31 Question Id : 5038909871 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following city was known as the "city of victory"?
Options :

1. ¥ Vijayanagara

2. # Pataliputra

3. # Takshila

4. ¥ Dipalpur

Question Number : 31 Question Id : 5038909871 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

fFffead & ¥ o1 91 WeR oo &1 e & =0 H SFT Sirar U1

Options :

1. ¢ faSgTR
2. % Urefaga
3. ® qeifRren

4. % OTAR

Question Number : 32 Question Id : 5038909872 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who led the Khilafat Movement in India?
Options :

1. ¥ Mahatma Gandhi & Jawaharlal Nehru

2. ¥ Muhammad Ali & Shaukat Ali

3. ¥ Muhammad Ali Jinnah & Rattanbai Jinnah

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4. % Abul Kalam Azad & Zakir Hussain

Question Number : 32 Question Id : 5038909872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H RIATHd Siigia &1 "dd fohe fardr U
Options :

1. % T e} 3R Taredrd g%

2. ¢ TgTC 3falt 3R JMhd el

3. % TEIQ el T 3R Ia-TaTs fora

4. % A HAH 3G 3R ATMBR g

Question Number : 33 Question Id : 5038909873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who served as the acting President of India after the death of the former President Fakhruddin Ali Ahmed?
Options :

1. ¥ BD Jatti

2. # Shankar Dayal Sharma

3. ® Zakir Hussain

4. ® Neelam Sanjiva Reddy

Question Number : 33 Question Id : 5038909873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jd YT BEE A et 3gHG B Hog &b d1G HRd & HRIdIgd UPUfd & FU H fba s fasar um

Options :

1. ¢ diet &gt

2. % [H TS XA
3. % SR g

4. % dq Ioild Xg!




Question Number : 34 Question Id : 5038909874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following posts was described as "the linchpin of Government" by Pandit Nehru?
Options :

1. # President

2. % Speaker

3. % Prime Minister

4. # Leader of Opposition

Question Number : 34 Question Id : 5038909874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & ¥ ford ug &1 UfSd g 7 "WRHR BI YR & U | aford fobar U
Options :

1. % ufd

2. % Wi

3. ¢ Uy HAl

4, % {1 oot 1 AT

Question Number : 35 Question Id : 5038909875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following author has written "India's 71-Year Test: The Journey to Triumph in Australia"?
Options :

1. ¥ R. Kaushik

2. # CLR James

3. % Sujit Mukherjee

4. # Dilip Doshi

Question Number : 35 Question Id : 5038909875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

"2 ST 71-3TR X<: & O ¢ SRWh 3 SHiecerar farg ages = foredt g2
Options :

1. ¢ 3R DIRTH

2. % HUAR g

3. % goild @i

4. % fadliy qreit

Question Number : 36 Question Id : 5038909876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first ever Nobel Prize in Economics was awarded in which year?
Options :

1. % 1901

2. %1909

3. % 1969

4. % 1967

Question Number : 36 Question Id : 5038909876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR H U al Aied REBR ford a8 H U farar mam ur
Options :

1. # 1901

2. % 1909

3. ¥ 1969

4. % 1967

Question Number : 37 Question Id : 5038909877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who is the first US President to be impeached twice by the House of Representatives in the USA?
Options :

1. # Joe Biden

2. ¥ Donald Trump

3. # George Bush

4. # Jimmy Carter

Question Number : 37 Question Id : 5038909877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SMRT H T THT §RT & IR AR ) OfF a1 Ugd SMRT IFafd D1 82
Options :

1. # S faea

Question Number : 38 Question Id : 5038909878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which day is observed as the International Day of Persons with Disabilities?
Options :

1. % 6th January

2. % 25th December

3. ¥ 3rd December

4. % 10th December

Question Number : 38 Question Id : 5038909878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fot fe1 o1 faepativ cafekadl o SIaRISI faad o U o HmT oirell 82




Options :

Question Number : 39 Question Id : 5038909879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which tennis player emerged as the winner of the Australian Open 2021, and what country does he belong to?
Options :

1. # Rafael Nadal, Spain

2. ¥ Novak Djokovic, Serbia

3. % Rafael Nadal, USA

4. ¥ Novak Djokovic, Russia

Question Number : 39 Question Id : 5038909879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ e A faaret sifeferas 3iiu 2021 &1 fastar o1 3R g8 ford 2 & Teifda g2
Options :

1. % el TSTd, T

2. ¢ AT S, fed

3. % Ahd ASId, JUIU

4. % AT Slplidd, ™Y

Question Number : 40 Question Id : 5038909880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which cricketer received the Sir Garfield Sobers Award for ICC Male Cricketer of the Decade?
Options :



1. # MS Dhoni
2. # Steve Smith
3. % Virat Kohli
4. ¥ R Ashwin

Question Number : 40 Question Id : 5038909880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GF P AT I3 fohdher o o ford fhdher &1 TR RIS e REPR HaT?

Options :
1. % THTY YHl
2. % g @y
3. ¢ fR1e S
4, % IR Y
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Group Number : 3
Group Id : 503890248
Group Maximum Duration : 0
Group Minimum Duration : 0
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Group Marks : 20
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Arithmetic Ability
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Section type : Online
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Number of Questions : 20
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 503890453
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5038909881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

V1764 + 148- 102 =7

Options :
1. % 98
2. % 64
3. % 76
4. ¥ 88

Question Number : 41 Question Id : 5038909881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U ot O Uy g (2) b RIF WR T ST

v1764 + 148- 102 =7?

Options :
1. # 98



2. % 64
3. % 76
4.+ 88

Question Number : 42 Question Id : 5038909882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

3128030 3% 3125005 =3

Options :
1. %1
2.9 25
3.%5

4. % 125

Question Number : 42 Question Id : 5038909882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAoferfad uy o Uy g (2) & RIM IR R HE ST

3125837 % 312599 =7

Options :
1. % 1

2.9 25
3.%5
4. % 125

Question Number : 43 Question Id : 5038909883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The H.C.F. of two numbers is 15 and their L.C.M. is 525. If one of the numbers 1s 105, then the other number is:
Options :

1. % 25

2. %20

3.9 75

4. % 65

Question Number : 43 Question Id : 5038909883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =13t BT HEaH JHUAAD 15 € 3R TTH JHIGdE 525 8 | IS T TR&AT 105 &, < GO T2 3
Options :

1. % 25

2. %20

3.¥ 75

4. % 65

Question Number : 44 Question Id : 5038909884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the students of a class are arranged in rows of 10, 15 or 20 students, no students is left behind, then the possible number of students in the class
1s:

Options :
1. ¥ 60
2. % 72
3. % 80
4. % 96

Question Number : 44 Question Id : 5038909884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g%ww&n%ma‘fﬁlo, 15 3R 20 BHEI & Ufddal H§ afyd fear a1 8, @ $is H B AV8IRedT, @) Hel & SHE) & JHIfdd e
Options :

1. ¥ 60

2. % 72

3. % 80

4. % 96

Question Number : 45 Question Id : 5038909885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the smallest fraction of the following fractions?
Options :
18

| % 484

20
2. 500

15
3 408

18
4 % 360

Question Number : 45 Question Id : 5038909885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad fire & 9 Tl I fir J1d Hifo-

Options :



18
| % 484

20
2. & 500

15
3 408

18
4 % 360

Question Number : 46 Question Id : 5038909886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average expenditure of Prashant on food in the months of January, February and March is Rs.1250, in the months of April to July is Rs.1502
and in the months from August to December is Rs. 2020. What is the approximate average expenditure on food for the whole year?

Options :

1. % Rs. 1376
2. % Rs. 1464
3. ¥ Rs. 1655
4. ® Rs. 1548

Question Number : 46 Question Id : 5038909886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URITd GRT SHast, BRast 3R A" & A1 & HIeH TR foar T $fid &0 1250 ¥U3 § 3R 3d ¥ S[alls & HelH & fofg 1502 ¥ 3R
3T ¥ fodaR & He & 1w 2020 T0T B 1 R I8 H HioH & SIHI SiTd & J1d 2

Options :

1. % 1376 30

2. % 1464 30




3. ¢ 1655 300
4. % 1548 3UY

Question Number : 47 Question Id : 5038909887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of car is 400 percent greater than the cost of bike. If there is an increase in the cost of the car by 10 percent and that of bike by 20
percent. Then the total increase in the cost of the 5 cars and 10 bikes is ?

Options :

1. # 11.11 percent
2. % 15 percent

3. % 13.25 percent
4. % 12.85 percent

Question Number : 47 Question Id : 5038909887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HR P AN 913% B AN F 400 U 31 1 afe FR B B | 10 UG 3R 126 Bt H1Ad H 20 UfANT B IgIa gs 81 al s
BRI 3R 10 TEH &I AN H 1 IS 85 87

Options :

1. % 11.11 gfa=ra

2. % 15 gfa=rd

3. % 13.25 gfa=rd

4. ¥ 12.85 Ufard

Question Number : 48 Question Id : 5038909888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of a cylinder is decreased by 25 percent then how much percentage of height must be increased so that volume remains the same?
Options :

1. # 33.33 percent

2. % 56.25 percent



3. % 77.7 percent
4. # 66.67 percent

Question Number : 48 Question Id : 5038909888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fdt S o1 st 25 Ufawd a% &1 81 Skl 8 A ST SHaTs fhd-! Ufard Sg-t a1t d1fds 3mad- T 3?2
Options :

1. % 33.33 Ofrd

2. % 56.25 gfa=rd

3. ¢ 77.7 9fa=Id

4. % 66.67 Ula=Id

Question Number : 49 Question Id : 5038909889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper has 250 boxes. He sold 75 boxes at p percent profit and remaining boxes at (p - 6) percent profit. If the net profit earned by him
was 16 percent then what is the value of 'p'?

Options :
1.9 20.2
2. % 184
3.% 224
4. % 242

Question Number : 49 Question Id : 5038909889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T GHMER & UM 250 i g | g 75 S1a Bl p UTRIaany 3R A i Bl (p - 6) U= A WR S9dl 8 | AfG 39 gRT 3ifoTd pa
Y 16 UTA=Td T, & 'p' ST HIF T 82

Options :

1. ¢ 20.2

2. % 184




3.% 224
4. % 242

Question Number : 50 Question Id : 5038909890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of three numbers is 98. If the ratio between the first and second is 2 : 3 and that between the second and third is 5 : 8, then find the
second number?

Options :
1. ¥ 30
2. %20
3. % 58
4. % 48

Question Number : 50 Question Id : 5038909890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 TReaft &1 AT 98 B 1 Tfe TR SR IR TAT & ol d BT U 2 : 3 8 3R G¥R 3R AR TAT & &g T 3T 5 - 8 B, al g
AT AT B2

Options :

1. ¥ 30

2. %20

3. % 58

4, % 48

Question Number : 51 Question Id : 5038909891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One type of rice having price of Rs 48/kg is mixed with another type of rice in the ratio of 2 : 5. Find the price of second type if the mixture is
worth Rs 44 per kg.

Options :
1. * Rs. 36 per kg



2. % Rs. 42 per kg
3. ¥ Rs. 32 perkg
4. # Rs. 40 per kg

Question Number : 51 Question Id : 5038909891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS [ & T1ad ) B 48 IO [l 8, TH GO [ & I1ad & W1y 2 : 5 & SUTd B B Sirdn g1 afe firsor &1 7w 44 33 ufd
foret 8, Y g forer & A1 &1 B IAd F1d B |

Options :

1. % 36309 ufd fen
2. % 42 30y Ufd fobal
3. ¢ 323U Ufd fohal
4. % 40 39y Ufd fan

Question Number : 52 Question Id : 5038909892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karan invested Rs. 12,000 partly in scheme A offering compound interest at the rate of 10 percent p.a. compounded annually and rest amount in
scheme B offering simple interest at the rate of 7 percent p.a. Find the amount invested in scheme A, if the total interest earned by him from both
the schemes together after three years is Rs. 3,125.

Options :

1. ¥ Rs. 5,000
2. % Rs. 6,000
3. # Rs. 7,000
4. % Rs. 8,000

Question Number : 52 Question Id : 5038909892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT 12000 ST B 3HfRH TT F WA A T % Hd1 8 Fo98 78 10 UiA=rd Tam1 & & ¥ Iehgfa SIS U Rl § 3R A A1
W B H 7 Uf=d YT o1 &R § TIYRUN 7S] U ST & | i a8 aTg, Wh1H A § a2 ot 7t 3l a0 3 afe S woiat 9 ure ot




T $d &1l 3,125 30 B |
Options :

1. ¢ 5,000 30

2. % 6,000 3T

3. % 7,000 ¥9Y

4. % 8,000 3T

Question Number : 53 Question Id : 5038909893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains of equal length are running on parallel lines in the same directions at 64 km/hr. and 54 km/hr. The faster trains pass the slower train in
18 seconds. The length of each train is.

Options :
1. % 36 m
2. % 42m
3. 25m
4. % 64 m

Question Number : 53 Question Id : 5038909893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U daTs Bt &l o M =1 & TR Teial R 64 fhwl/Eer $iR 54 feil/der &1 1 9 9a 381 g | oot ¢, el ¢ &1 18 Ihe A UR
B g, Al ISP ¢ B AT [obal 82

Options :

1. % 360

2. % 420

3. ¢ 25

4. % 6401

Question Number : 54 Question Id : 5038909894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Asha walks 30 percent of the distance from X to Y at 5 km/hr, 60 percent of the remaining distance at 4 km/hr and the rest of the journey at 8
km/hr. What is the average speed of Asha (in km/hr)?

Options :
1. % 4
2.¥5
3.% 6
4. %7

Question Number : 54 Question Id : 5038909894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{TRM X ¥ Y I &1 g3 & 30 U= &1 5 fhardicx/der o 1fd I et 8, AW g & 60 UfI=Id &1 4 fraidier/der & fd I e § $iR
AN I B 8 fhaiHiez/der  Tadt g1 e ot 3id Tfd forait 8 (fratex/eer #)?

Options :
1. % 4
2.¥5
3.% 6
4, % 7

Question Number : 55 Question Id : 5038909895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tap A is 50 percent more efficient than tap B. Both tap together can fill the tank in ?
hours. Find the time taken by tap A to fill the tank alone.

Options :

1. # 12 hours
2. # 16 hours
3. # 24 hours
4. % 32 hours



Question Number : 55 Question Id : 5038909895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHA:HHBI?SGW?H%@?EW?I@HTWHHE?WE?Z—E
H¢ o@Nd gl 3hel el A FI 3 # Thaar T8I FEam?

Options :

1. % 126C
2. % 166C
3. % 247%¢C
4. ¢ 324C

Question Number : 56 Question Id : 5038909896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sides of a triangle are 50 m, 40 m and 30 m respectively. Find the length of the altitude of the vertex opposite to the side 50 m long.
Options :

1. % 16m

2. % 20m

3.9 24m

4. % 18m

Question Number : 56 Question Id : 5038909896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YD BT YT HART: 50 1Y, 40 T ayr 30 H &1 50 T, Yo W fAudia I S1al TU de 2 & avars J1d B
Options :

1. % 164

2. % 20

3. ¢ 247

4, % 134



Question Number : 57 Question Id : 5038909897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A horse is tethered at one corner of a square plot of side 35 m by a rope 28 m long. Find the ungrazed area ?
Options :

1. ¢ 606 m?

2. % 576 m?

3. % 504 m?

4. % 632 m?

Question Number : 57 Question Id : 5038909897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35 Hex YT & Th 1 WS & U HIF R TSP Uls Pl 28 Hiex daT TR J S7efT o1 3 | f9H 1 =1 8w 1d B
Options :

1. ¢ 606 91 Hiex

2. % 576 HleR

3. % 504 @ Hex

4. % 632 @ HIR

Question Number : 58 Question Id : 5038909898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following table represents the number of books sold from four different shops.

Shop Number of books sold
Monday Tuesdav Monday : Wednesday
A 280 300 7:6
B 325 250 5:0
C 255 336 3:4
D 360 420 6:5




What is the respective ratio of number of books sold from shop B on Wednesday to number of books sold from shop A on Tuesday?
Options :

1. % 12:11

2. % 9:8

3.%11:10

4.+ 13:10

Question Number : 58 Question Id : 5038909898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad aifereT TR 3rerT-3rerT gl & 9 TS G&is! Bt IBI Y <=l B

HIHAR HITAR HIHGR : qUaR
A 280 300 7:6
B 325 250 5:6
C 255 336 3:4
D 360 420 6:5

P B Y FUIR & o1 T3 TAD| 1 GBI qUT FIAAR B ghH A I Sl T8 YD ! e BT Faiferd Sard fba1 g2
Options :

.%¥12:11

2.%9:8

3.%11:10

4.4 13:10

Question Number : 59 Question Id : 5038909899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Following table represents the number of books sold from four different shops.



Shop Number of books sold
Monday Tuesday Monday : Wednesday
A 280 300 126
B 325 250 550
C 255 336 3:4
D 360 420 625

Sale of shop B and C together on Wednesday is increased or decreased by approximately what percent than previous day?
Options :

1. ¥ 25 percent

2. % 32 percent

3. % 31 percent

4. * 30 percent

Question Number : 59 Question Id : 5038909899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad aifereT TR 3rerT-3rerT gl | 9 TS G&is! Bt I=I oY <=l B

gl o<t T QA 1 FEdT
HHAR HITAR HIHER : gUaR
A 280 300 7:6
B 325 250 536
G 255 336 3:4
D 360 420 6:5

JYAR P! TH 1Y GHM B 3R € B! fosht, Uza &7 &t g & e fvam wfawrd 9¢ arge 18 82
Options :

1. ¢ 25 Gf=id

2. % 32 gfa=rd

3. % 31 UfaRrd



4. % 30 ygfaerd

Question Number : 60 Question Id : 5038909900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given bar graph shows the number Rockets launched by 5 different countries in last 2 years.

North Korea

Russia

India

China

UsaA

0 3 10 15 20

w2017 ®2018

Find the difference between number of Rockets launched by Russia, USA and India together in 2016 to the number of Rockets launched by
China, India and North Korea together in 2017.

Options :
1. %5
2. % 6
3.% 2
4.v 4

Question Number : 60 Question Id : 5038909900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fou U R U fUsa 2 aul | 5 faftr =i gRT df= fohu 77U el Bt We & AT 5 |

20

m2017 "2016

¥ 2016 H T, 3MR®T 3R YR GRT U 1Y dAl-d fhT MU bl ot T-AT 3R a8 2017 H T, HRA 3R IR HIRAT gRT TP I1Y Al
fHu TTE Ridbel ol T= & o9 BT 3R J1d DIfoT|

Options :
1. %5
2. % 6
3.% 2
4.9 4
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Question Number : 61 Question Id : 5038909901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. # The jail seen one prisoner death so far from complications of the virus.

2. ¥ The lawyers have filed a petition before a federal court for mass transfers.

3. % A judge on Thursday rejected a bid by inmates to be release or transferred from a jail.

4. ¥ Dart said that his office has already taken steps to protect inmates and staff.

Question Number : 61 Question Id : 5038909901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. ® The jail seen one prisoner death so far from complications of the virus.

2. ¥ The lawyers have filed a petition before a federal court for mass transfers.

3. # A judge on Thursday rejected a bid by inmates to be release or transferred from a jail.
4. ® Dart said that his office has already taken steps to protect inmates and staff.

Question Number : 62 Question Id : 5038909902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the segment in the sentence which contains the grammatical error from the given options. If the sentence has no error, select the option
‘No Error.”

We saw a elephant in the zoo.
Options :

1. ®¥ We saw

2. ¥ aelephant

3. # in the zoo

4. % No error

Question Number : 62 Question Id : 5038909902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the segment in the sentence which contains the grammatical error from the given options. If the sentence has no error, select the option
‘No Error.”

We saw a elephant in the zoo.
Options :

1. # We saw

2. ¥ a elephant

3. ® in the zoo



4. % No error

Question Number : 63 Question Id : 5038909903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

Economic problems and sanctions have hampered Iran's arms imports, which are relatively small, compared to those of other countries in the
region.

Options :

1. # relatively smaller

2. # relative small

3. % relatively more smaller

4. ¥ No substitution required

Question Number : 63 Question Id : 5038909903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

Economic problems and sanctions have hampered Iran's arms imports, which are relatively small, compared to those of other countries in the
region.

Options :

1. % relatively smaller

2. # relative small

3. % relatively more smaller

4. ¥ No substitution required

Question Number : 64 Question Id : 5038909904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No



substitution required.

It’s not quite a doomsday scenario, though irrefutably the experience, guile and effective of Ishant will be sorely missed.

Options :

1. # experience, guileful and effectiveness
2. ® experienced, guileful and effective

3. ¥ experience, guile and effectiveness

4. ® No substitution required

Question Number : 64 Question Id : 5038909904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

It’s not quite a doomsday scenario, though irrefutably the experience, guile and effective of Ishant will be sorely missed.

Options :

1. ® experience, guileful and effectiveness
2. % experienced, guileful and effective

3. ¥ experience, guile and effectiveness

4. ® No substitution required

Question Number : 65 Question Id : 5038909905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The reason that explanations didn't quite work is that they made the mistake of referring to letters rather than to sounds.
Options :

1. # his

2. % her

3. % its

4. ¥ their



Question Number : 65 Question Id : 5038909905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The reason that explanations didn't quite work is that they made the mistake of referring to letters rather than to sounds.
Options :

1. * his

2. % her

3. # its

4. ¥ their

Question Number : 66 Question Id : 5038909906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Until a vaccine is available, the key to avoiding COVID-19 is one’s risk of infection as much as possible.
Options :

1. ¥ reducing

2. % discounting

3. * shortening

4. * condensing

Question Number : 66 Question Id : 5038909906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Until a vaccine is available, the key to avoiding COVID-19 is one’s risk of infection as much as possible.
Options :
1. ¥ reducing



2. # discounting
3. % shortening

4. # condensing

Question Number : 67 Question Id : 5038909907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. When the history of mobile phones in the UK is written, 2002 will be remembered as the year when something did not happen.

Q. This was supposed to be the year that third generation (3G) mobile phone services were due to start.

R. By now, many of us were supposed to have signed up for these futuristic services that turn your handset into something that does much more
than let you talk while you walk.

S. Instead, 2002 has been a year that had more disappointments than delights for phone makers and mobile networks operators.

Options :

1. ¥ PQRS
2. % PSQR
3. % SRQP
4. % PRQS

Question Number : 67 Question Id : 5038909907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. When the history of mobile phones in the UK is written, 2002 will be remembered as the year when something did not happen.

Q. This was supposed to be the year that third generation (3G) mobile phone services were due to start.

R. By now, many of us were supposed to have signed up for these futuristic services that turn your handset into something that does much more
than let you talk while you walk.

S. Instead, 2002 has been a year that had more disappointments than delights for phone makers and mobile networks operators.

Options :

1. ¥ PQRS
2. % PSQR
3. % SRQP



4. % PRQS

Question Number : 68 Question Id : 5038909908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. Ms. Subramanian started a petrol pump in Madras.
P: A total of twelve girls now work at the pump.

Q: She advertised in newspapers for women staff.

R: They operate in two shifts.

S: The response was good.

6. Thus she has shown the way for many others.

Options :

1. # PQRS
2. % PQSR
3. ¥ QSPR
4. % SQPR

Question Number : 68 Question Id : 5038909908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. Ms. Subramanian started a petrol pump in Madras.
P: A total of twelve girls now work at the pump.

Q: She advertised in newspapers for women staff.

R: They operate in two shifts.

S: The response was good.

6. Thus she has shown the way for many others.

Options :
1. # PQRS
2. % PQSR



3. ¥ QSPR
4. % SQPR

Question Number : 69 Question Id : 5038909909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

RAMP
Options :

1. # Flag

2. # Manifest
3. % Gradient
4. % Hanging

Question Number : 69 Question Id : 5038909909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

RAMP
Options :

1. # Flag

2. % Manifest
3. ¥ Gradient
4. % Hanging

Question Number : 70 Question Id : 5038909910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

LOQUACIOUS



Options :

1. ¥ Reticent

2. # Talkative
3. % Garrulous
4. # Verbose

Question Number : 70 Question Id : 5038909910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

LOQUACIOUS
Options :

1. ¥ Reticent
2. # Talkative
3. % Garrulous
4. # Verbose

Question Number : 71 Question Id : 5038909911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Desicration

2. % Disparaging

3. # Dilapidated

4. % Diminution

Question Number : 71 Question Id : 5038909911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.



Options :

1. ¥ Desicration
2. % Disparaging
3. # Dilapidated

4. % Diminution

Question Number : 72 Question Id : 5038909912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. # Millennium

2. % Minuscule

3. ¥ Mischeivous

4. ¥ Majestic

Question Number : 72 Question Id : 5038909912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. # Millennium

2. # Minuscule

3. % Mischeivous

4. % Majestic

Question Number : 73 Question Id : 5038909913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Give someone the cold shoulder



Options :

1. #® In good times and in bad times

2. ® Taking credit for someone else achievements
3. % Display indifference toward that person

4. # To waste food

Question Number : 73 Question Id : 5038909913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Give someone the cold shoulder

Options :

1. # In good times and in bad times

2. # Taking credit for someone else achievements
3. % Display indifference toward that person

4. ® To waste food

Question Number : 74 Question Id : 5038909914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Hole-and-corner
Options :

1. # Sensible
2. ¥ Secretive
3. % Servile

4. % Strict

Question Number : 74 Question Id : 5038909914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom/ phrase.

Hole-and-corner
Options :

1. # Sensible
2. ¥ Secretive
3. % Servile

4. % Strict

Question Number : 75 Question Id : 5038909915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

An account of someone's life written by someone else
Options :

1. ¥ Biography

2. % Autobiography

3. # Calligraphy

4. % Narration

Question Number : 75 Question Id : 5038909915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

An account of someone's life written by someone else
Options :

1. ¥ Biography

2. % Autobiography

3. # Calligraphy

4. ¥ Narration

Sub-Section Number : 2



Sub-Section Id : 503890455
Question Shuffling Allowed : Yes

Question Id : 5038909916 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

Research in the field of Food Technology has been conducted for decades. In 1810, development of the canning process by Nicolas Appert was a
decisive event. Canning had a major impact on food preservation techniques. Later Louis Pasteur’s research, in 1864, on spoilage of wine and his
description of how to avoid spoilage was an early attempt to put food technology on a scientific basis. Besides wine spoilage, Pasteur conducted
research on production of alcohol, vinegar, wines, beer and souring of milk. He developed ‘pasteurisation’- the process of treating milk to destroy
disease producing organisms. Pasteurisation was a significant advance in ensuring microbiological safety of food.

Food Technology was initially used to serve military needs. In the 20th century, world wars, exploration of space and the rising demand for
varied products from consumers contributed to the growth of Food Technology. Products such as instant soup mixes and ready-to-cook items
including meals were developed, specially catering to needs of working women.

Further, food industry was compelled to focus on nutritional concerns. Food preferences and choices changed and people started incorporating
into their diet food items/preparations from different regions and countries. The desire to have seasonal foods all year round increased. Food
technologists made efforts to provide both safer and fresher food using new techniques. In the 21st century, food technologists are challenged to
produce foods suitable for health and other changing needs of consumers. Food technology has provided a vast variety of safe and convenient
foods. In developing countries this rapidly expanding and developing field, has been helpful in improving food security and has opened avenues
for employment at all levels. Indian food industry has thus emerged as a major producer of processed foods and ranks fifth in terms of size,
contributing nearly 6 per cent of GDP.

Sub questions

Question Number : 76 Question Id : 5038909917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, Food Technology has a vast variety of safe and convenient foods.
Options :

1. # degraded

2. % slumped

3. % produced

4. % tumbled



Question Number : 77 Question Id : 5038909918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following is not associated with Louis Pasteur’s research?
Options :

1. # wine spoilage

2. ¥ canning process

3. % souring of milk

4. ® production of alcohol

Question Number : 78 Question Id : 5038909919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the challenge to the food technologists in the 21st century?
Options :

1. # to produce foods from the stale food and conserve them for long time
2. # to avoid making a delicious food without microbiological safety

3. % to ensure food at a large scale for people to be served at the same time

4. ¥ to produce foods suitable for health and other changing needs of consumers

Question Number : 79 Question Id : 5038909920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Spoilage”?
Options :

1. # degradation

2. % deterioration

3. # putrefaction

4. % conservation

Question Number : 80 Question Id : 5038909921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. ¥ Indian food industry ranks sixth in terms of size, contributing nearly 6 per cent of GDP.

2. % Food technologists made efforts to provide both safer and fresher food using new techniques.
3. ¥ Pasteurisation was a significant advance in ensuring microbiological safety of food.

4. % Products such as instant soup mixes and ready-to-cook items including meals were developed, specially catering to needs of working
women.

Question Id : 5038909916 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Research in the field of Food Technology has been conducted for decades. In 1810, development of the canning process by Nicolas Appert was a
decisive event. Canning had a major impact on food preservation techniques. Later Louis Pasteur’s research, in 1864, on spoilage of wine and his
description of how to avoid spoilage was an early attempt to put food technology on a scientific basis. Besides wine spoilage, Pasteur conducted
research on production of alcohol, vinegar, wines, beer and souring of milk. He developed ‘pasteurisation’- the process of treating milk to destroy
disease producing organisms. Pasteurisation was a significant advance in ensuring microbiological safety of food.

Food Technology was initially used to serve military needs. In the 20th century, world wars, exploration of space and the rising demand for
varied products from consumers contributed to the growth of Food Technology. Products such as instant soup mixes and ready-to-cook items
including meals were developed, specially catering to needs of working women.

Further, food industry was compelled to focus on nutritional concerns. Food preferences and choices changed and people started incorporating
into their diet food items/preparations from different regions and countries. The desire to have seasonal foods all year round increased. Food
technologists made efforts to provide both safer and fresher food using new techniques. In the 21st century, food technologists are challenged to
produce foods suitable for health and other changing needs of consumers. Food technology has provided a vast variety of safe and convenient
foods. In developing countries this rapidly expanding and developing field, has been helpful in improving food security and has opened avenues
for employment at all levels. Indian food industry has thus emerged as a major producer of processed foods and ranks fifth in terms of size,
contributing nearly 6 per cent of GDP.

Sub questions

Question Number : 76 Question Id : 5038909917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, Food Technology has a vast variety of safe and convenient foods.



Options :

1. # degraded
2. % slumped
3. ¥ produced
4. % tumbled

Question Number : 77 Question Id : 5038909918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following is not associated with Louis Pasteur’s research?
Options :

1. # wine spoilage

2. ¥ canning process

3. # souring of milk

4. # production of alcohol

Question Number : 78 Question Id : 5038909919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the challenge to the food technologists in the 21st century?
Options :

1. # to produce foods from the stale food and conserve them for long time
2. # to avoid making a delicious food without microbiological safety

3. # to ensure food at a large scale for people to be served at the same time

4. ¥ to produce foods suitable for health and other changing needs of consumers

Question Number : 79 Question Id : 5038909920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Spoilage™?
Options :

1. # degradation



2. % deterioration
3. # putrefaction

4. ¥ conservation

Question Number : 80 Question Id : 5038909921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. ¥ Indian food industry ranks sixth in terms of size, contributing nearly 6 per cent of GDP.

2. # Food technologists made efforts to provide both safer and fresher food using new techniques.
3. % Pasteurisation was a significant advance in ensuring microbiological safety of food.

4. ® Products such as instant soup mixes and ready-to-cook items including meals were developed, specially catering to needs of working
women.
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Question Number : 81 Question Id : 5038909922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFeffad & Q o IH-31 Weq oo T &1 IS8R0 81 82
Options :

1. v gdieyg

2. % Jgdicd

3. # dal®PRR

4. % fameR

Question Number : 81 Question Id : 5038909922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRId o O D19-91 Tog o A BT IGT6R0T el 67
Options :

1. ¢ dfed

2. % 3qUlcd

3. #® daldRR

4. % fomeR

Question Number : 82 Question Id : 5038909923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAEfoRad # ¥ Tagd Ie &1 994 PifoTL-
Options :

1. #® Yl

2. % gld-d

3. % gifcrdT

4. % TG

Question Number : 82 Question Id : 5038909923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR § & dagd <Teq T 0 BT
Options :

1. % gl

2. % Hlddq

3. % gIfereh

4. % FCR

Question Number : 83 Question Id : 5038909924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefaRad & O Ui &1 99 Sifere-
Options :

1. # 3dhsg

2. % 8RR

3. % 3{[dc

4. 3y

Question Number : 83 Question Id : 5038909924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frEfefed o 9 IUTRT &1 9o Fifoe-




Options :

1. % 3dhS
2. % B8R

3. % 3f[dc
4. 3y

Question Number : 84 Question Id : 5038909925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfaRed & @ SH-91 Weg Igards I 81 87
Options :

1. % el

2. % =91

3. M

4. % IR

Question Number : 84 Question Id : 5038909925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeRad o 9 $1F-91 Yo YYgarae U el 82
Options :

1. % el

2. % T3]

3. ¢ G

4. % fIRIg

Question Number : 85 Question Id : 5038909926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFfafed & @ wgeien &1 waigar Wea HH-91 82

Options :



1. % P
2. % TRIYd
3. % fagR
4. ¢ QARG

Question Number : 85 Question Id : 5038909926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et § § ~gwiter o1 yafgarh 2sg HH-A1R?
Options :

1. % BgR

2. % IRTYT

3. % fagR

4. & T

Question Number : 86 Question Id : 5038909927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfafed & @ wee-gm & Ig! 31d-0g &1 997 PifoTe-

Options :

1. ¢ TSP - URadH
2. % IACHR - Ydplac
3. % B - AR

4, % YGHR - oA

Question Number : 86 Question Id : 5038909927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frmferad & O Weg-gm o W 31d-1g &1 99+ B



Options :

1. ¢ TSP - URadH

2. % IACHR - Ydlac
3. % B - AR

4, % YGHR - oA

Question Number : 87 Question Id : 5038909928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfafad & 9 fazavor o1 i weg HH-a1 8
Options :

1. ® qI9YE

2. ¥ HRAYUT

3. % Gl

4. % BHEHA

Question Number : 87 Question Id : 5038909928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafed & § fazeyor &1 faey 2o SH-91 82
Options :

1. % TagYUT

2.« HIATI

3. % Qg

4. % JHEH

Question Number : 88 Question Id : 5038909929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % faforfier

2. % faoas

3. ¢ faorId

4. % SeHG

Question Number : 88 Question Id : 5038909929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fafoeftem

2. % faoge

3. ¢ faoiyd

4. % SAHG

Question Number : 89 Question Id : 5038909930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 89 Question Id : 5038909930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 90 Question Id : 5038909931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. % Ticil Td 81 31ehT U101 3 1747 |

3. ¢ U oo 9t o718 78T e §

4. % I & 3D A g

Question Number : 90 Question Id : 5038909931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fferiad # @ g a1e o1 = BIfo-
Options :

1. % 3P draqe Ht a8 SHTdI-SITdT 8T |
2. % Tdl ATd &1 36T U101 I 14T

3. ¢ T Yoo gyt o718 781 firera B

4. % g P 3P A B

Question Number : 91 Question Id : 5038909932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad ¥ O 9199 & TSR &1 99 BHIfoTL-
TR 3 R kg f g BS Ad B

Options :

1. % Ygad dI

2. ¢ IRA AT

3. % By ar

4. % fowrfdaiyd arR

Question Number : 91 Question Id : 5038909932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR O @ 1 & UHR BT IhH DIfOTL-
TS o R aRd 1 W SIS T 7

Options :

1. % IgId IR

2. ¢ I dI-

3. % g a1

4. % fqEraTiealys qr

Question Number : 92 Question Id : 5038909933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTfeTRad & U 91 & YR b1 Ig DIfoIT-
= T el 38 Fehdl |

Options :

1. ¥ Hgar

2. % H[Adry




3. % HHATA
% foparara

Question Number : 92 Question Id : 5038909933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFEfaRad ¥ 9 9= & UHR &1 I9-9 BIToTe-
S Q0d Tal 38 G&d |

Options :

1. ¥ Hgar
2. % Y[ddrg
3. % HHarA
4. % fopgrar

Question Number : 93 Question Id : 5038909934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFeffead o 9 gerarT "fa-ies &t siic § ugTs furr &1 o 3 g2
Options :

1. % §gd g guled # YISt W Haq|

2. % -G H G|

3. % YA Ffgd Il S|

4. ¢ R-IR T g8 1d fum|

Question Number : 93 Question Id : 5038909934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o @ gerart faed @ eiie ¥ UgTs U &1 @1 o1 g2
Options :

1. % ggd g1 Pfied # Urgt A Heg |



2. % YH-TWMbd H g7
3. % g gigd a1 ST
4. ¢ TRIW T §S1 91 U

Question Number : 94 Question Id : 5038909935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iR O 3 fov Aaifad &1 i a1 7 oF1 T J B9 &1 SaT” 862
Options :

1. % S W GH TR S8 ¢t B

2. % Td U7 THTRY St dfel IR

3. I 919 g ¥l 3|

4. % fI9 ST ORE IegTl

Question Number : 94 Question Id : 5038909935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fafad O fog deifad &1 a1 "1 7 o1 gud § &1 &1 el 82
Options :

1. % o Wl g8 TR R St B

2. % qd Ui g St afelt IR |

3. ¢ QT 9 99 Olg ol 39|

4. % T B oRE geal|

Question Number : 95 Question Id : 5038909936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFffEd & 9, 781 1 dRRG 3R I P SHeRT-SHeHT B & U fog fareg o1 Wi faba ST 82
Options :

1. % guifaR/™ g

2. ¢ R o




3. % JGRU g
4, % QMR g

Question Number : 95 Question Id : 5038909936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfRad 5 Q, 78 &1 TRIRG SR I BT 3THT-3TT H & foie foby g &1y v Srar g2
Options :

1. % guifar™ faeg

2. ¢ 3[R g

3. % IGRUI g

4. % 3G g

Sub-Section Number : 2

Sub-Section Id : 503890457
Question Shuffling Allowed : Yes

Question Id : 5038909937 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

frAfeRad eI o eaTgde 31ema PR U=l & SR Slforg-

TIR® & HdA R BRI BT TA BT ARG HeT oI1dl & | ARG T4t [IRwdT & o U1 H A 7 df JHS HT 1A 3
&9 971 § o9 $T| 3P o1 T &1 ofid- T YR I Uad &1 SIral g a1 He™ fR1 i It & qur forgest aiierdr ¥ ois d&y
Tt BIT| 3fcl: ARG 8 A B! ARG §-1 & fo18 HTIRIS § | GaraR BT 3 §- Yd+3MaR = s HG8R|

fob=g FTURUT 37 H 381 UART I Gt HAGRT 3R BT o 1T Gl § S YIS §RT TR B SR 3feed HIH W1 § | FHIS IS &) ¢ 1eh
3R grIfore fopanaft o afd wrdl XedT 8 | S audhdl gidl ¢ THTIS &I Tafeyd IuT Faifed X6+ & | 33 7 Siar, IRt 9
A1, bl Y SRS &1 T A, S A F SRR 7 BT 3M1fS YR AN ST | 71 I BT BT AN SR SIS Biell
2 o 79 TS H SoIaRIT I Il § a1 THIS! &1 G1al A8Es Siidl g | TS 31 0T & SHTeR-THTH 6l § il ArHToi [aferdt &
TG I H qUT Igo-fed 3R dgoH-gad &1l § Gedd gald & |

Sub questions

Question Number : 96 Question Id : 5038909938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

i & ¥ Swfed TR &1 3fud S SF-1 82
Options :

1. % ARG & 39|

2. % qUial & 3|

3. % YR U fac=it AnTRep

4. ¢ Hlfdd TagR|

Question Number : 97 Question Id : 5038909939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUdad T & STIR FAfRad § J S THTet & Faffed qur afid Re- § waifis a0y g2
Options :

1. ¢ AR |

2. % $Had AU WBR|

3. % JfYHRY gl
4, % HId b WDR |

Question Number : 98 Question Id : 5038909940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUed TR & STIR ARG & B 3R HAGRI & TP B HET AT g
Options :

1. % FiRepdl

2. % Gifdehdl

3. ¢ ARG

4. % GrHTSTH T

Question Number : 99 Question Id : 5038909941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfaRed 7 9 «Jemar &1 f | g?



Options :

1. % S 9goH-Qurd &1l § YgTad gl aid & |
2. % TRl § gl = 81 3@+ ara|

3. ¢ Hiicdch HGGR|

4. % RIS TAgR|

Question Number : 100 Question Id : 5038909942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUard TR o HeH o 3 ARIRSG o1 (A § 9 fobd oifieh g a1 afew
Options :

1. % el & GRIGT §4 WR |

2. ¢ ot 3R BRI BT GHlP B

3. % ggoH-ledd & S # 3HfYF F1eT ST W

4. ® FgoH- QU & B | S 141 S1AH W

Question Id : 5038909937 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

=TT TRITR1 FT AT gD R B U=AT B IR Glord-

TIR® & HdA R BRI BT TA BT ARG HeT oI1dl & | ARG T4t [IRwdT & o U1 H A 7 df JHS HT 1A 3
&9 971 § o9 $T| 3P o1 T &1 ofid- T YR I Uad &1 SIral g a1 He™ fR1 i It & qur forgest aiierdr ¥ ois d&y
Tt BIT| 3fcl: ARG 8 A B! ARG §-1 & fo18 HTIRIS § | GaraR BT 3 §- Yd+3MaR = s HG8R|

fob=g FTURUT 37 H 381 UART I Gt HAGRT 3R BT o 1T Gl § S YIS §RT TR B SR 3feed HIH W1 § | FHIS IS &) ¢ 1eh
3R grIfore fopanaft o afd wrdl XedT 8 | S audhdl gidl ¢ THTIS &I Tafeyd IuT Faifed X6+ & | 33 7 Siar, IRt 9
A1, bl Y SRS &1 T A, S A F SRR 7 BT 3M1fS YR AN ST | 71 I BT BT AN SR SIS Biell
2 o 79 TS H SoIaRIT I Il § a1 THIS! &1 G1al A8Es Siidl g | TS 31 0T & SHTeR-THTH 6l § il ArHToi [aferdt &
TG I H qUT Igo-fed 3R dgoH-gad &1l § Gedd gald & |

Sub questions

Question Number : 96 Question Id : 5038909938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

i & ¥ Swfed TR &1 3fud S SF-1 82
Options :

1. % ARG & 39|

2. % qUial & 3|

3. % YR U fac=it AnTRep

4. ¢ Hlfdd TagR|

Question Number : 97 Question Id : 5038909939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUdad T & STIR FAfRad § J S THTet & Faffed qur afid Re- § waifis a0y g2
Options :

1. ¢ AR |

2. % $Had AU WBR|

3. % JfYHRY gl
4, % HId b WDR |

Question Number : 98 Question Id : 5038909940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUed TR & STIR ARG & B 3R HAGRI & TP B HET AT g
Options :

1. % FiRepdl

2. % Gifdehdl

3. ¢ ARG

4. % GrHTSTH T

Question Number : 99 Question Id : 5038909941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfaRed 7 9 «Jemar &1 f | g?



Options :

1. % S SgoH-gu &1 & Y80 Tel ald ] |
2. % TRl § gl = 81 3@+ ara|

3. ¢ Hiicdch HGGR|

4. % RIS TAgR|

Question Number : 100 Question Id : 5038909942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUard TR o HeH o 3 ARIRSG o1 (A § 9 fobd oifieh g a1 afew
Options :

1. % TSt o GRIAT §7 TR

2. ¥ Ha 3R SHABRT 1 TR B

3. % ggoH-ledd & &1 | & a1 S/ R

4. ® FgoH- QU & B | S 141 S1AH W

Disciplinel
Group Number : 6
Group Id : 503890251
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Disciplinel

Section Id : 503890387



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890458
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5038909943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

World Meteorological Organisation (WMO) is located at
Options :

1. * Paris

2. ¥ Geneva

3. ®* New York

4. * Tokyo

Question Number : 101 Question Id : 5038909943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ay Mgm oy e (wmo) . #fR@E R
Options :

1. % ORg

2. ¥ SHdl

3. % g%

4. % Sl

Question Number : 102 Question Id : 5038909944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First Director General (D.G.) of Indian Council of Agricultural Research (ICAR) was
Options :

1. # Dr. S. Sarvepalli Radhakrishnan

2. % Dr. Mankombu Sambasivan Swaminathan

3. % Dr. Panchanan Maheshwari

4. ¥ Dr. Benjamin Peary Pal

Question Number : 102 Question Id : 5038909944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RO HY 3IHUH URYG (ICAR) & TYH SRRFR O R 3|
Options :

1. % 3. Y. gduc JUTHOUH

2. % Sl T Ity HaTRa WA

3. % Y. UaH ARy

4.« S dSTIE URY uTe

Question Number : 103 Question Id : 5038909945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a web browser?
Options :

1. # Google chrome

2. # Fire fox

3. ¥ Modem

4. ¥ Opera

Question Number : 103 Question Id : 5038909945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 & ¥ &1 TP 39 TSR el /7
Options :

1. % T DI

2. % HRR Bl

3. ¢ OieH

4, % 3O

Question Number : 104 Question Id : 5038909946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

File created in MS Word 2010 is saved with the extension
Options :

1. ¥ .docx

2. % ppt

3. % .jpg

4, % Xls

Question Number : 104 Question Id : 5038909946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THUY G8 2010 H §13 718 H12d & (1 8 J {5 wrEe TaexH & a1y JRig forar oirar g2
Options :

1. ¥ .docx

2. % ppt

3. % .ipg

4. % Xls

Question Number : 105 Question Id : 5038909947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word which is most nearly the SAME in meaning as the word given in capital letters.



MUSE
Options :

1. # Inhabit
2. % Ponder
3. % Appease
4. % Taint

Question Number : 105 Question Id
Orientation : Vertical

: 5038909947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Choose the word which is most nearly the SAME in meaning as the word given in capital letters.

(T8 g I oll §'g 3HaR| H fAT T e & o1 & THT GHA B1)

MUSE
Options :

1. # Inhabit
2. ¥ Ponder
3. % Appease
4. * Taint

Question Number : 106 Question Id
Orientation : Vertical

: 5038909948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks in the following sentences with the most appropriate word.

It is difficult to cross the
Options :

1. ¥ barrier

2. ¥ barier

3. # berriar

4. % burrier

Question Number : 106 Question Id

: 5038909948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks in the following sentences with the most appropriate word.

It is difficult to cross the
Options :

1. ¥ barrier

2. ® barier

3. % berriar

4. % burrier

Question Number : 107 Question Id : 5038909949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In what time Rs. 5000 amount to Rs. 5800 at 8 percent per annum simple interest.
Options :

1. # 6 months

2. % 1 year

3. ¥ 2 year

4. % 3 year

Question Number : 107 Question Id : 5038909949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fod= THT o 5000 ¥TY 8 UfARId JTAHT SIS &3 TR 5800 ¥UY B SIH?
Options :

1. % 6TEH

2. % 191

3. 291

4. % 3979

Question Number : 108 Question Id : 5038909950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a modification of petiole?
Options :

1. ¥ Phyllode

2. # Cladode

3. % Phylloclade

4. # Cladophylls

Question Number : 108 Question Id : 5038909950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o & ¥ P91 4 BT SR 32
Options :

1. ¢ fdIS (Phyllode)

2. % FASIS (Cladode)

3. % flellgels (Phylloclade)

4. % TSI (Cladophylls)

Question Number : 109 Question Id : 5038909951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Interferons are

Options :

1. ¥ Anti cancerous protein

2. % Antibacterial protein

3. ¥ Antiviral proteins

4. ¥ Digestive engymes

Question Number : 109 Question Id : 5038909951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



- 5
Options :

1. % gfadheR W=
2. % gfaeiiaro midH
3.+ gfafasrg gidH
4. % U TSTsH

Question Number : 110 Question Id : 5038909952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most abundant lipid in a cell membrane is
Options :

1. # Steroid

2. % Phospholipid

3. # Glycolipid

4, % LDL

Question Number : 110 Question Id : 5038909952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRDT FRreeht & TR 7T § U o arert fiftre &l
Options :

1. % XIS (Steroid)

2. ¢ BIRWIANUS (Phospholipid)

3. % TARHIMUS (Glycolipid)

4. % UQSIUd (LDL)

Question Number : 111 Question Id : 5038909953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Primary cell wall has proteins, rich in



Options :

1. % Lysine

2. % Threonine

3. ¥ Hydroxy Proline

4. % Isoleucine

Question Number : 111 Question Id : 5038909953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T DIRIDT et H TR S ared UIEH H UeR A6 § ok
Options :

1. % ARRE (Lysine)

2. % Y3 (Threonine)

3.¢ Eﬁ@a%ﬁ INIE] (Hydroxy Proline)

4, ® HE@W:[ (Isoleucine)

Question Number : 112 Question Id : 5038909954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The stain used to visualize mitochondria is
Options :

1. ¢ Janus green

2. # Colchicin

3. % Acetocarmine

4. % Safranint

Question Number : 112 Question Id : 5038909954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OISl a1 DI 3@ & oy Uge fohdT S aral SiftRsd gl
Options :




1. ¢ S I (Janus green)

2. % DIl (Colchicin)

3. % W(Acetocarmine)
4, % W(Safranint)

Question Number : 113 Question Id : 5038909955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is a product of aerobic respiration?
Options :

1. # Ethyl alcohol

2. ¥ Malic acid

3. # Lactic acid

4. % Methane

Question Number : 113 Question Id : 5038909955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 B $IF-91 aradig RaeH &1 IS 82
Options :

1. % TR sfeblgd

2. ¢ HicTeh 3

3. % dfaed s

4. % Higq

Question Number : 114 Question Id : 5038909956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Respiratory Quotient (RQ) of fat is always
Options :

1. % zero



2. * more than one
3. ® one
4. ¥ less than one

Question Number : 114 Question Id : 5038909956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BT 4T 0D (RQ) U gargl
Options :

1. %}

2. % Th Y YD

3. % Uh

4. ¢ T U HH

Question Number : 115 Question Id : 5038909957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term “taxonomy” was first coined by
Options :

1. # Carl Linnaeus

2. % Whittaker

3. % De Candolle

4. % Aristotle

Question Number : 115 Question Id : 5038909957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SR Rec BT YA T Ugdl = foba|
Options :

1. % HId iy
2. % Hledh



3. ¢ Sl B
4. % 3R

Question Number : 116 Question Id : 5038909958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Portuguese man of war” is

Options :

1. # Sycon

2. ¥ Physalia

3. # Pennatula

4. % QObelia

Question Number : 116 Question Id : 5038909958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"G BTG A" (QoW) il &-
Options :

1. # FIEH’TT:T(Sycon)

2. ¢ BT (Physalia)

3. % a:ITgaT(Pennatula)

4. % 3{ISfeMT (Obelia)

Question Number : 117 Question Id : 5038909959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cowper’s gland is found in

Options :

1. # Earthworm

2. # Snake

3. ¥ Rabbit



4. # Frog

Question Number : 117 Question Id : 5038909959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BHRIWR Y o R S 6
Options :

1. % U

2. % 9

3. ¥ TN

4. % b

Question Number : 118 Question Id : 5038909960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Excretory compound of birds and reptiles is
Options :

1. # Urea

2. % Ammonia

3. ® Urea and ammonia

4, % Uric acid

Question Number : 118 Question Id : 5038909960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gt Ud TRl &1 Ieh uary gl
Options :

1. % g

2. % I

3. % giegrqur s

4. ¥ R 3



Question Number : 119 Question Id
Orientation : Vertical

: 5038909961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following belongs to class Insecta?

Options :

1. ¢ Silverfish
2. # Pristis

3. %® Julus

4. % Prawn

Question Number : 119 Question Id
Orientation : Vertical

: 5038909961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

9 o I B9 1 oitg a7t S3geT & 3idTid TaT 82

Options :

1. ¢ RicRftew
2. % ey

3. % 9y

4. % S

Question Number : 120 Question Id
Orientation : Vertical

: 5038909962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
The three-tier system of Panchayati Raj was recommended by

Options :

1. # Kaka Kalelkar committee
2. ¥ B. R. Mehta committee
3. # Dr. B. P. Pal

4. #* Prof. M.S. Swaminathan

Question Number : 120 Question Id

: 5038909962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

R et ISt Dt SR Dt BRIl
Options :

1. % BHIDHT HIAAD GrHfd =

2. ¢ §.3R. Agar 9fffa A

3. % LU Ua

4. % T). TH.QY. WHAERAE A

Discipline2
Group Number : 7
Group Id : 503890252
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 503890388
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 503890459
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5038909963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Society is the web of social relationships” was definied by
Options :

1. # Auguste Comte

2. % Emile Durkheim

3. % Plato Socrates

4. ¥ Robert Morrison Maclver

Question Number : 121 Question Id : 5038909963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"gHTS FrATfore Rl &1 S (A9) 3" &1 gk F foan|
Options :

1. % 3Rd DI (Auguste Comte)

2. % TURA gWH (Emile Durkheim)

3. % @aw (Plato Socrates)

4. ¢ ¢ ARG ﬁm (Robert Morrison Maclver)

Question Number : 122 Question Id : 5038909964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solum is made up of

Options :

1. # A horizon

2. % C horizon

3. % A and B horizon

4. % D and C horizon



Question Number : 122 Question Id : 5038909964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey CEIERI]

Options :

1. % AR DI

2. % C TR BT

3. ¥ A 3R B IXR @I

4. % D 3R C IXR BT

Question Number : 123 Question Id : 5038909965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In horticulture, dolomite is added to soil as a source of
Options :

1. # Boron

2. ¥ Magnesium

3. % Iron

4. ® Zinc

Question Number : 123 Question Id : 5038909965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRTaT B SiarTSe e S 5, Fie a8 &1 Id 5
Options :

|. % gRH

2. ¢ THREH

3. % dIg

4. % fSidh



Question Number : 124 Question Id : 5038909966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Central Soil Salinity Research Institute (CSSRI ) is currently situated at
Options :

1. # Jaisalmer

2. % Jodhpur

3. % Karnal

4. % Coimbatore

Question Number : 124 Question Id : 5038909966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&g YT AudT ST YRIM (CSSRN aaa- H - HfRyd gl
Options :

1. % SR

2. % SIYQR

3. ¥ PRI

4. % DGR

[

Question Number : 125 Question Id : 5038909967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an example of primary minerals?
Options :

1. # Quartz

2. % Muscovite

3. % Olivine

4. ¥ Dolomite

Question Number : 125 Question Id : 5038909967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

75 & O D19 1 Ui WGl 1 3aTERU T8l 67
Options :

1. % ®Ico

2. % Td YD

3. % 3fIeftarg

4. SIAMRS

Question Number : 126 Question Id : 5038909968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of accumulation of more exchangeable Na™ ion in soil is known as-
Options :

1. ¥ Solonization

2. % Solodization

3. ® Gleization

4. ¥ Pedoturbation

Question Number : 126 Question Id : 5038909968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T fafAa=iia Nat SITaAl &1 Ha1 & S 811 &1 Ufshal Hadli! o-
Options :

1. ¢ AAFRIRA (Solonization)

I NISIES R (Solodization)

3. % TdYdH (Gleization)

4. ® USlcaxH (Pedoturbation)

Question Number : 127 Question Id : 5038909969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Seed Act came into force in India from
Options :

1. # December 1983

2. ®% December 1966

3. % October 1969

4. ® March 1963

Question Number : 127 Question Id : 5038909969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URd § oIS AT o § Ar ge|
Options :

1. % fquweR 1983

2. % fATFR 1966

3. ¢ AR 1969

4. % T 1963

Question Number : 128 Question Id : 5038909970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the average of a, b and 36 is 24, then average of a and b is—
Options :

1. ¥ 18

2. % 12

3. % 30

4. % 24

Question Number : 128 Question Id : 5038909970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfS a, b Td 36 BT 3G 24 B, A9 a T b BT 71 G-
Options :



1. ¥ 18
2.% 12
3. % 30
4. % 24

Question Number : 129 Question Id : 5038909971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the probability of getting a multiple of 3 if an unbiased dice is thrown?
Options :

1. ® 3/4

2. % 12

3.9 1/3

4. % 2/3

Question Number : 129 Question Id : 5038909971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g U fsaer ) ot et o Y, < & T & e &t SuTaar o g
Options :

1. = 3/4

2. % 1/2

3. 1/3

4. % 2/3

Question Number : 130 Question Id : 5038909972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A farmer having land holding less than 1 hectare is known as
Options :

1. * Agricultural labour



2. % Marginal farmer
3. # Small farmer

4. % Medium farmers

Question Number : 130 Question Id : 5038909972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T g W B FHY YH a1t fram HEA G|
Options :

1. % B AR

2. « HiHid fbaH

3. % @I¢ fbam

4. % oA foar

Question Number : 131 Question Id : 5038909973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price Elasticity of demand (Ep) is more than one in
Options :

1. % Completely Inelastic Demand

2. % Unit Elasticity

3. # Relatively Inelastic Demand

4. ¥ Elastic demand

Question Number : 131 Question Id : 5038909973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRT &1 Yo &9 (Ep) T ¥ 3H{Uh HEarel
Options :

1. % qol 3@ anT

2. % TPIS Aladl



3. % TOféres Srara |
4.« A AN

Question Number : 132 Question Id : 5038909974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Paira cropping of Bihar & W. Bengal and Utera cropping of Madhya Pradesh is an example of
Options :

1. ¥ Relay cropping

2. % Mixed cropping

3. % Companion cropping

4. % Parallel cropping

Question Number : 132 Question Id : 5038909974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagR SR ufEy sTer & yaferd OR1 S a7 He8 USRI § Ui Se}1 9= % IaTERU 5|
Options :

1. % 3{JUc I

2. % fhfgd =g

3. ® YR &

4, % JUMIGR I

Question Number : 133 Question Id : 5038909975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an insect trap crop in cotton?
Options :

1. # Maize

2. # Potato

3. ® Paddy



4. ¥ QOkra

Question Number : 133 Question Id : 5038909975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g & ¥ HH-I HUrg P 1Y dig el U B 82
Options :

1. # Hdd[

2. % 3l

3. % Yq

4. ¢ TSI

Question Number : 134 Question Id : 5038909976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Central Potato Research Institute (CPRI) is located at
Options :

1. % Pant Nagar

2. % Gandhi Nagar

3. % Shimla

4. ¥ Dehradun

Question Number : 134 Question Id : 5038909976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DA T AU TRIT (CPRI) T IufYd g
Options :

1. % Ud TR

2. % T TR

3. ¢ R

4. % GG



Question Number : 135 Question Id
Orientation : Vertical

: 5038909977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
The complementary interaction between the intercrops is known as

Options :

1. % Symbiosis
2. ¥ Annidation
3. # Parasitism
4. ¥ Antibiosis

Question Number : 135 Question Id
Orientation : Vertical

: 5038909977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

3R T & 3fdTd ST S aTell Bl & std QRab Sfdfehar o CIHRSIGIE

Options :

1. % Tgoiddr
2. ¢ THISRH
3. ® TRGIGd
4. % gidsiitadr

Question Number : 136 Question Id
Orientation : Vertical

: 5038909978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Polysaccharide found in the exoskeleton of arthropods is

Options :

1. # Cellulose
2. # Starch

3. % Glycogen
4. % Chitin

Question Number : 136 Question Id

: 5038909978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3MITTTST & §fY: FHehTe H TR ST a1 TgRIh gl
Options :

1. % Jogars

2. % XY

3. % TS

4. pr3fe

Question Number : 137 Question Id : 5038909979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First important reaction in the process of cellular respiration is
Options :

1. # Kreb’s cycle

2. ¥ Glycolysis

3. % Photolysis

4. ¥ ETS

Question Number : 137 Question Id : 5038909979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIRIBIT YT Ufehan & B aTeht YoH Hea@yul fosar &l
Options :

1. % heq Thsh

2. ¥ TRDIASRE

3. ¥ YD UYCH

4. % 30y

Question Number : 138 Question Id : 5038909980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In aerobic organism, during electron transport chain the final electron acceptor is
Options :

1. # Cytochrome a3

2. % Cytochrome ¢ and b

3. ¥ Oxygen

4. % Ubiquinone

Question Number : 138 Question Id : 5038909980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIfa% 99 ¥, SadcH URag $ae & SR 3ifar agerd Widwmdf G
Options :

1. % mﬂzﬁ

2. ® mﬂ cTdb

3. ¢ 3fTRfToH

4. % giafeH

Question Number : 139 Question Id : 5038909981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Number of molecules of Acetyl-coA produced from a molecule of glucose during glycolysis is
Options :

1. %6

2.% 4

3.% 3

4. 2

Question Number : 139 Question Id : 5038909981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP TSI o QIR Te@ ol & Udh U] ¥ IATed Acetyl-coA & U3 B W& gl




Options :
1. *% 6
2. % 4
3.%3
4. ¥ 2

Question Number : 140 Question Id : 5038909982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hydrogen donor during Photosynthesis is
Options :

1. * ADP

2. ¥ NADPH

3. * NADP

4. * NADH

Question Number : 140 Question Id : 5038909982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTRT YT & SR SIS o ardl gl
Options :

1. ¥ ADP

2. ¥ NADPH

3. ¥ NADP

4. * NADH

Discipline3
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Group Id : 503890253
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 503890389
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 503890460

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5038909983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dichlorophenyl Dimethyl Urea (DCMU) inhibits
Options :

1. % PS-I

2. % Oxidative Phosphorylation

3. ¥ PS-II

4. % Ascent of sap

Question Number : 141 Question Id : 5038909983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SRAIRIBIS SRIHUEA IRAT (SRATHY) e gl
Options :

1. % Ut Q-1

2. % JfRITSIed BRBINBRT

3. ¢ Y TY-11 &l

4, % JORIGU

Question Number : 142 Question Id : 5038909984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following proteins was first sequenced by Frederick Sanger?
Options :

1. % Pepsin

2. % Myosin

3. #% Oxytocin

4. ¥ Insulin

Question Number : 142 Question Id : 5038909984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T ¥ ®H-3 UIcH &1 R TR gRT SIHH U e
Options :

1. % UfRE &1 (Pepsin)

2. % AR BT (Myosin)

3. % G @I (Oxytocin)

4. ¢ Eﬁﬁﬂm (Insulin)

Question Number : 143 Question Id : 5038909985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following Insect is the carrier of rice grassy stunt virus (RGSV)?
Options :

1. % Brown plant hoppers

2. % Red Ants

3. % White fly

4. #® Pink Ants

Question Number : 143 Question Id : 5038909985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ¥ ¥ HH I Ple Ir9d g We fAu) (RGSV) BT a8 72
Options :

1. ¢ T TIIC §IR

2. % o1 Hfear

3. % Ythg Ao

4. ® TQE difeal

Question Number : 144 Question Id : 5038909986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Damaging stage of Amsacta albistriga is
Options :

1. # Nymph

2. % Larval

3. % Maggot

4. % Adult

Question Number : 144 Question Id : 5038909986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QT@TRT Qﬁ?ﬁ"’ﬂ (Amsacta albistriga) P! BINPRD aRT %I

Options :



1. % 3w
2. ¢ dal
3. % Y
4. ® Had TP

Question Number : 145 Question Id : 5038909987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which acid is present in honey bee sting?
Options :

1. # Acetic Acid

2. % Formic Acid

3. % Sulphuric Acid

4. # Nitric Acid

Question Number : 145 Question Id : 5038909987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AYHTE & SH | I AT 3 UMY gl 82
Options :

1. % TAfcH 3

2. ¢ Wit 3

3. % YoRRD 3T

4. % 13fch 3t

Question Number : 146 Question Id : 5038909988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The traits studied by Mendel in his classical experiments showed
Options :

1. #* Co-dominance



2. # Epistasis
3. ¥ Dominance & Recessiveness

4. # Incomplete dominance

Question Number : 146 Question Id : 5038909988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hed F U URHRS YANT H S{ea by damn 3 ST |
Options :

1. % Fg-gHIfadr

2. % Ydddl

3. ¢ UHIFAdT T SuHTfd T

4. % 3qul gyTIaaT

Question Number : 147 Question Id : 5038909989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a gene product in species A is 90 percent similar to gene product in species B. such genes are termed as
Options :

1. # Paralogous genes

2. ¥ Orthologous genes

3. % Pseudogenes

4. ¥ Heterologous gene

Question Number : 147 Question Id : 5038909989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e A TSIl 1 i ITE B ST &SI ST H 90 UF=Td dch SHI Il § dd T SiiHl bl HET Al g
Options :

1. % TRANTY oA (Paralogous genes)

2. ¥ &ﬁm\?ﬁ:{ (Orthologous genes)




3. % @W(Pseudogenes)
4, % %élalllﬁﬁﬂq(Heterologous gene)

Question Number : 148 Question Id : 5038909990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Robertsonian translocation between chromosome 21 and chromosome 14 in the human causea.
Options :

1. ¥ Haemophilia

2. % Turner syndrome

3. ¥ Down syndrome

4. # Cri-du-chat syndrome

Question Number : 148 Question Id : 5038909990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG 21 TG UG 14 & T 84 aTd @S T RIFRARU 6 SR A4 H gl -
Options :

1. % GIHIMBICRT (Haemophilia)

2. % TR RISH (Turner syndrome)

3. ¥ SI31 ﬁf@q (Down syndrome)

4. % WI?:-EE Erd 4G (Cri-du-chat syndrome)

Question Number : 149 Question Id : 5038909991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Buffalo, Sheep and goats belong to the family-
Options :

1. # Cervidae

2. % Equidae

3. % Cebidae



4. ¥ Bovidae

Question Number : 149 Question Id : 5038909991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U9, VS Td gt 3§ Hatd $of (IRAR) 9 6-
Options :

1. % gdfS (Cervidae)

2. % 3fds (Equidac)

3. % fTS (Cebidac)

4. ¢ S8 (Bovidae)

Question Number : 150 Question Id : 5038909992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

International Livestock Research Institute (ILRI) is located at
Options :

1. ¥ Nairobi (Kenya)

2. % Manila (Philippines)

3. % Lima (peru)

4. ¥ Penang (malaysia)

Question Number : 150 Question Id : 5038909992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS Ue SrgHeT IR (ILRI) A fREgl
Options :

1. ¢ R (@)

2. % Hta (fOhedidia)

3. % o (UF)

4. % URT (TR



Question Number : 151 Question Id : 5038909993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In hatchery fumigation of incubator is done with
Options :

1. # Chlorine

2. % Nitrogen

3. % Formaldehyde

4. % Methyl bromide

Question Number : 151 Question Id : 5038909993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR B STRgACR BT iUl e Id 2
Options :

1. % FARM ¥ (Chlorine)

2. % :ﬂ%‘@\_ﬂ@r (Nitrogen)

3. ¥ BIASERS U (Formaldehyde)

4. % TYRATHRS I (Methyl bromide)

Question Number : 152 Question Id : 5038909994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mehsana breed of buffalo has been developed from crosses between
Options :

1. % Murrah x Surti

2. % Bhadawari x Murrah

3. % Jaffrabadi x Surti

4. ®# Bhadawari x Nagpuri

Question Number : 152 Question Id : 5038909994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g B Agamn T & G gRT fapRd 31 71 B
Options :

1. ¢ TR = Rait

2. % HaTRT x I’

3. ® SIS x il

4. % U] x ARG

Question Number : 153 Question Id : 5038909995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
pBR322 is a plasmid cloning vector in
Options :

1. # B. subtilis

2. ¥ E. coli

3. % A.rhizogenes

4. % P, furiosus

Question Number : 153 Question Id : 5038909995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
pBR322 T WIHS Falf-7 STeh &l

Options :

1. % o gfeefora d
2. ¢ 3 B |

3. % T goo-g
4, % O WA o

Question Number : 154 Question Id : 5038909996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The association of endotoxin in gram negative bacteria is due to the presence of
Options :

1. # Hormone

2. % Polypeptide

3. % Lipopolysaccharides

4. % Peptidoglycan

Question Number : 154 Question Id : 5038909996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iTR Sitafay &7 Yay I FRIfea s iRan € 7 8§ § forae! SufRifa & SR 67
Options :

1. # E'Iﬁfr\‘:[(Hormone)

2. % tﬁ?ﬂ'a'grgg(l)mypeptide)

NN O

3. ¢ fogig ﬂl@lwilss\{-l (Lipopolysaccharides )

4. % UfPSNATEHA

(Peptidoglycan)

Question Number : 155 Question Id : 5038909997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Yeast extract is an excellent source of
Options :

1. # Protein

2. ¥ Vitamin-B complex

3. % Carbohydrates

4. # Lipids

Question Number : 155 Question Id : 5038909997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



GHRBIUR P U ggd 381 did &
Options :

1. ® g

2. ¢ eIt - &t S

3. % R

4. % fafue

Question Number : 156 Question Id : 5038909998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B — lactam ring is present in

Options :

1. % Tetracyclines

2. % Erythromycin

3. ¥ Streptomycin

4. ¥ Penicillin

Question Number : 156 Question Id : 5038909998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B - daed 4 IURYA gl g |
Options :

1. % TG (Tetracyclines)

2. % TR (Erythromycin)

3. % W(Streptomycin)

4. ¢ UFARIAE (Penicillin)

Question Number : 157 Question Id : 5038909999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Genome of SARS-CoV-2 is



Options :

1. ¥ ss RNA
2. # ss DNA
3. % ds RNA
4. # ds DNA

Question Number : 157 Question Id : 5038909999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SARS-CoV-2 CaRsisiaed
Options :

1. ¥ ss RNA

2. % ss DNA

3. % ds RNA

4. % ds DNA

Question Number : 158 Question Id : 50389010000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cell Mediated immune response involves
Options :

1. # Plasma cells

2. ¥ Cytotoxic T-cells

3. % Basophils

4. ¥ RBCs

Question Number : 158 Question Id : 50389010000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIRIpT safed wfaReft ufdfsan ERUIERE]

Options :

1. % ITSH HIRABTY



2. ¢ Trseleliayd ¢ HIRBTY
3. % gOfthey
4. % R

Question Number : 159 Question Id : 50389010001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bacitracin is obtained from

Options :

1. ®# E. coli

2. # B. cereus

3. # B. thuringiensis

4. ¥ B. subtilis

Question Number : 159 Question Id : 50389010001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRISRA (Bacitracin) I U foar S g1

Options :

1. % PHIATS (E. coli)

2. % ), W(B. cereus)

3. % 9. m (B. thuringiensis)
4. ¢ o). 9o (B. subtilis)

Question Number : 160 Question Id : 50389010002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Most commonly found soil type in india is
Options :

1. # Regur soil

2. % Red soil



3. % Alluvial soil
4. % Arid soil

Question Number : 160 Question Id : 50389010002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRAA G FOAUA I AR TS 3l

Options :

1. % g 7al

2. % dlcd Hal

3. ¢ Sdli gal

4. % T
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Group Number : 9

Group Id : 503890254

Group Maximum Duration : 0
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Number of Questions : 20

Number of Questions to be attempted : 20
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Sub-Section Id : 503890461
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 50389010003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Soil Moisture is measured by

Options :

1. ¥ Tensiometer

2. % Potometer

3. % Hygrometer

4. % Rain guage

Question Number : 161 Question Id : 50389010003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Bt T DY A g
Options :

1. ¢ iR

2. % YIeHHieR

3. % 3fTgdrATdy

4. % 9o A7

Question Number : 162 Question Id : 50389010004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Diameter of clay Particle is



Options :

1. # more than 2 mm

2. ¥ below 0.002 mm
3. % 0.002 to 0.05 mm
4. % 0.05t02.0 mm

Question Number : 162 Question Id : 50389010004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frep1t firct & ol 1 T gl
Options :

1. % o et 9 siftre

2. ¥ 0.002 Tt S HH

3. % 0.002 - 0.05 .

4. % 0.05 - 2.0 THH.

Question Number : 163 Question Id : 50389010005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of June 2021, who is the chairman of NABARD?
Options :

1. # Shaktikanta Das

2. # Dinesh Kumar Khara

3. #* Dr. Raghuram Rajan

4. ¥ Dr. G.R. Chintala

Question Number : 163 Question Id : 50389010005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 2021 & SR, TS & & DI 52

Options :



1. % gfadeid g™
2. % fGAN AR @RI
3. % g TRM A
4. ¢ 81 SR, fiaen

Question Number : 164 Question Id : 50389010006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is Iso-revenue line?

Options :

1. # Horizontal line

2. % Vertical line

3. ¥ Straight line

4. % Sigmoid curve

Question Number : 164 Question Id : 50389010006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- X1 1 5Tl 52

Options :

1. % &ifcreT v

2. % SEER G

3. gt

4. % UGIHR AP

Question Number : 165 Question Id : 50389010007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soil water potential at permanent wilting point (PWP) is
Options :

1. # -0.1 bar to -0.3 bar



2. % -15 bar
3. % 30 bar
4. % 60 bar

Question Number : 165 Question Id : 50389010007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R AT fofg (PWP) TR JaT 5Id &l gl gl
Options :

1. % -0.1 dR to -0.3 dR

2.% -15dR

3. % 30dR

4, % 60 dR

Question Number : 166 Question Id : 50389010008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is incorrect?
Options :

1. % 1 bar=0.987 atm

2. % 1 bar = 100kPa

3. % 1 bar =750.062 mm Hg

4. ¥ | Bar = lkPa

Question Number : 166 Question Id : 50389010008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o & o we e 8

Options :

1. # 1 dR =0.987 atm

2. % 1 dR = 100kPa



3. % 1 dR =750.062 mm Hg
4. % 1 dR = 1kPa

Question Number : 167 Question Id : 50389010009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Device used to measure humidity of air is
Options :

1. ¥ Psychrometer

2. # Lysimeter

3. # Tensiometer

4. % Osmometer

Question Number : 167 Question Id : 50389010009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TAI D! TSl B AU DT I g
Options :

1. v Fﬂaﬁtﬂa (Psychrometer)

2. ® ?ﬂg;ﬂjﬂEY(Lysimeter)

3. % ¢fRgHiex (Tensiometer )

4. % 3T (Osmometer)

Question Number : 168 Question Id : 50389010010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Sugar 75” is hybrid variety of

Options :

1. # Sugarbeet

2. # Sugarcane

3. ¥ Maize



4. # Bajra

Question Number : 168 Question Id : 50389010010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"R-75", B I fheT B
Options :

1. % ghex

2. % T

3. ¥ Hah

4. % qToR

Question Number : 169 Question Id : 50389010011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chandra Kadiri -2, chitra and kuber are varieties related to which of the following?
Options :

1. # Maize

2. % Groundnut

3. % Ginger

4, % Arhar

Question Number : 169 Question Id : 50389010011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<5, TeR-2, o Ud Pk g fob e e aiferd &
Options :

1. ® Hdd[

2. ¢ Tl

3. % AR

4, % 3R



Question Number : 170 Question Id : 50389010012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the recommended seed rate for sowing kabuli gram?
Options :

1. % 30-50 Kg/ha

2. % 150-200 kg/ha

3. ¥ 75-100 kg/ha

4. ¥ 50-70 kg/ha

Question Number : 170 Question Id : 50389010012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BIgel 99 Bl Aol &g FufRa e s g2
Options :

1. % 30-50 fob AT Ufd BHCAR

2. % 150-200 fob U1 Ufd §FCAR

3. ¢ 75-100 fob U1 Ufd 8T

4. % 50-70 fob U1 U BHCAR

Question Number : 171 Question Id : 50389010013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The inflorescence in lentil is

Options :

1. # Spikelets

2. % Raceme

3. # Panicle

4. # Corymb

Question Number : 171 Question Id : 50389010013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IRR H g gl
Options :

1. # W@(Spikelets)
2. ¢ 3T (Raceme)

3. % ggad SI& (Panicle)
4. % PHINFF(Corymb)

Question Number : 172 Question Id : 50389010014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Karnal bunt of Wheat is a

Options :

1. # Viral disease

2. % Bacterial disease

3. % Helminthic disease

4. ¥ Fungal disease

Question Number : 172 Question Id : 50389010014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g H AT §¢ Th gl
Options :

1. % fouToy ST A

2. % SiaTueId I

3. % gieHiRye T

4. ¥ HADb SA-Id INT

Question Number : 173 Question Id : 50389010015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which test is used for testing the significance of mean differences?
Options :

1. # z-test

2. ¥ t-test

3. % f-test

4, % K2 _test

Question Number : 173 Question Id : 50389010015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & HEd o SfaR URIEf0T 5 fohd URIerur &1 SUdT fohan Sl 82
Options :

1. % GgCE

2. ¥ e

3. % UL

4. % 2K

Question Number : 174 Question Id : 50389010016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Detrimental effect of host plant on the biology of insect is known as
Options :

1. # Tolerance

2. # Predation

3. % Antibiosis

4. ¥ Symbiosis

Question Number : 174 Question Id : 50389010016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



OIS Oiel gRT It B1 wifdid IR USH alell gl-®Re® THE HeArd gl
Options :

1. % i (Tolerance)

2. % URYEUT (Predation)

3. ¢ Yfasifdd (Antibiosis)

4. % ggofifadr (Symbiosis)

Question Number : 175 Question Id : 50389010017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Litchi belongs to which family?

Options :

1. # Anacardiaceae

2. ¥ Sapindaceae

3. % Malvaceae

4. % Vitaceae

Question Number : 175 Question Id : 50389010017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
N frd oot | Teifa 82

Options :

1. # W@@(Anacmdiaceae)

2. ¢ Aft=s 4t (Sapindaceae)

3. % W(Malvaceae)

4, % ?ﬂa@(\/itaceae)

Question Number : 176 Question Id : 50389010018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Arka Puneet" variety of maize is a cross between



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Alphonso x Banganpalli

2. Alphonso x Neelam

3. Ratana x Alphonso

4. Neelam x Alphonso

Question Number : 176 Question Id : 50389010018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TH &1 31! g fored & A Pt AP g |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. ST x ST

2. 3l x HierH

3. XA x S{ethid]

4. IeH x ScHial

Question Number : 177 Question Id : 50389010019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following region does not comes under, Eastern Himalaya Agro climatic zone?
Options :

1. % Sikkim

2. % Meghalaya

3. ¥ Himachal Pradesh

4, % Assam



Question Number : 177 Question Id : 50389010019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ o 7 & gt fewTert B Sierary & & 3faia g 3T 82
Options :

1. * fufded

2. % AU

3. ¢ feuTad Uet

4. % 3H

Question Number : 178 Question Id : 50389010020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

International Society for Horticultural Science (ISHS) is headquartered at
Options :

1. # Canada

2. ¥ Belgium

3. % TItaly

4. % Brazil

Question Number : 178 Question Id : 50389010020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T AR TRAT (ISHS) BT TATHH ARl
Options :

1. % sl

2. ¢ dfeoam

3. % gaal

4. % STSitd



Question Number : 179 Question Id : 50389010021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Making an incision below a bud/ branch to retard its growth is known as
Options :

1. * Ringing

2. ¥ Nicking

3. *# Notching

4. % Pruning

Question Number : 179 Question Id : 50389010021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Hait a1 a1 H gi AhA & fore avman an <1 weararn gl
Options :

1. ® gdg-q

2. ¢ 3o

3. % GrAHR0I

4. % FeTs

Question Number : 180 Question Id : 50389010022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Germination of seeds while they are still remain attached to the parent source is known as
Options :

1. # Ovipary

2. % Apomixis

3. ¥ Vivipary

4. % Binary fission

Question Number : 180 Question Id : 50389010022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3 S Tld ¥ SIer 8Id g, ol § g aTelt SiGHRul Bl SRyl HEard gl

Options :

1. ® 3{SUSI® (Ovipary)
2. % 3T (Apomixis)
3. ¢ SRIYST (Vivipary)

4. ® fgfaEsH (Binary fission)
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 50389010023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Pusa Nanha" variety of Papaya is developed through
Options :

1. % Hybridization

2. % Mutation breeding

3. # Selection

4. % Heterosis

Question Number : 181 Question Id : 50389010023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gdid &t g T fber ERUCEANGEA KIS
Options :

1. % HBT

2. ¢ IRl g

3. % 9gq

4. % HDHR 3ol

Question Number : 182 Question Id : 50389010024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gulabi and Dilkhus are important varieties of
Options :

1. ¥ Strawberry

2. % Guava

3. % Grapes

4. ¥ Pomegranate



Question Number : 182 Question Id : 50389010024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIGICTRR R TG et A Recs ce A G e ]
Options :

1. % et

2. % 3Hxq

3. ¢ 3R

4, % AR

Question Number : 183 Question Id : 50389010025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following symptom is not associated with necrosis?
Options :

1. # Death of tissues

2. % Discoloration of leaves

3. % Leaf spot & Blight

4. ¥ Curling of leaves

Question Number : 183 Question Id : 50389010025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 O Q DY T SHdmerd ¥ Tefdd 78 82
Options :

1. % DITRABIS T AR

2. % Yol 1 HfGH{BRUT

3. % quf feredl wd SR

4. URRigl &1 Ha (S

Question Number : 184 Question Id : 50389010026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Red Rot of sugarcane is caused by
Options :

1. ¥ Colletotrichum falcatum

2. % Albugo candida

3. # Mycoplasma

4. # Phytophthora infestans

Question Number : 184 Question Id : 50389010026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T2 § AT g8 INT BT BRI gl
Options :

1. ¥ ﬂ%rcﬁ‘g’w Tedhdd (Colletotrichum falcatum)
2. % Ueil HTSST (Albugo candida)
3. % HZHITITSHT (Mycoplasma)

4. % ISCIPRIRT W (Phytophthora infestans)

Question Number : 185 Question Id : 50389010027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of parasite did witchweed is?
Options :

1. #® Facultative root parasite

2. % Semi-stem parasite

3. ® Stem parasite

4. ¥ Obligate root parasite

Question Number : 185 Question Id : 50389010027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fredts’ frg YR &1 uRelid 82
Options :

1. ® s OIS URoiat

2. % 3. TRl

3. % T TRl

4. ¢ 3ffdhed TRolat

Question Number : 186 Question Id : 50389010028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bengal Famine (1943) was associated with shortage of which of the following?
Options :

1. ¥ Wheat

2. ¥ Rice

3. % Sugar

4. % Maize

Question Number : 186 Question Id : 50389010028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= 7 O forges! HHY & foIT 'S &1 31T (1943) Faiferd 82
Options :

1. % Tg

2. ¥ dIdd

3. % G

4, % Hadh]

Question Number : 187 Question Id : 50389010029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bacterial Blotch in mushrooms is caused by



Options :

1. ¥ Pseudomonas fluorescens
2. #® Pseudomonas syringae
3. # Pseudomonas agarici

4. ® Bacillus subtilis

Question Number : 187 Question Id : 50389010029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARRH § SIaTY] 907 T BRI gl
Options :

1. ¢ TCI(@TI}IW TR (Pseudomonas fluorescens)

2. % WW RIS (Pseudomonas syringae)
3. % @Eﬁm TR (Pseudomonas agarici)
4. % YT Gafeferd (Bacillus subtilis)

Question Number : 188 Question Id : 50389010030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which disease in rice did researcher tried to control by developing varieties using biomarker technology?
Options :

1. # Blast

2. ¥ Bacterial Leaf Blight

3. % Bakanae

4. % Sheath blight

Question Number : 188 Question Id : 50389010030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 D DI W STHRY BT R B & U Qe disil 7 SRR dob-ilh B s (P& [ iid bl g2

Options :




1. % greran

2. ¥ ST Uccl! STHART
3. % gD

4. % Ui SATARY

Question Number : 189 Question Id : 50389010031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In human disease caused due to excessive use of nitrate fertilizers is
Options :

1. # Measles

2. # Jaundice

3. # Kidney stone

4. ¥ Methemoglobinemia

Question Number : 189 Question Id : 50389010031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TMEee ISP & e YINT Y 7! § §1F areht STARYy gl
Options :

1. % 9T

2. % yiferan

3. % ¢ P O

4. ¢ AYANAIfSATET (Methemoglobinemia)

Question Number : 190 Question Id : 50389010032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Plant absorbs nitrogen from soil in the form of
Options :

| % NOFTTH



3 o NOs3-

43-$N1

Question Number : 190 Question Id : 50389010032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e oI I Ao Sa=nia FEIHHA G
Options :

, « NJORTTH
3.9 ND;-#mﬁ'

4 % NoS ®TH

Question Number : 191 Question Id : 50389010033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Natural Sulphate of Potash and Magnesia is Known as
Options :

1. ¥ Langbeinite

2. % Mica

3. % Bentonite



4. # Feldspar

Question Number : 191 Question Id : 50389010033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TieTeT Ud HIfRMAT &1 Wihfde Tethe gl
Options :

1. ¥ ﬁ%ﬁ’lﬂ?Langbeinite)

2. % HIQPI (Mica)

3. % W(Bentonite)

4, % W(Feldspar)

Question Number : 192 Question Id : 50389010034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a hygroscopic fertilizer?
Options :

1. ¥ NH4NO;

2. ®* NH,CONH,

3. % (NHy), SO4

4. ¥ CaHPOy4

Question Number : 192 Question Id : 50389010034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19§ Q -1 SIS IR el 82

Options :

1. ¥ NH4NO;

2. * NH,CONH,
3. % (NHy), SO4



4.+ CaHPO,

Question Number : 193 Question Id : 50389010035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is structural element of methionine and cysteine?
Options :

1. ¥ Molybdenum

2. % Boron

3. ¥ Sulphur

4. % Phosphorous

Question Number : 193 Question Id : 50389010035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 9 HH-3 AR td R & SRaes da 82
Options :

1. % HifclegaH

2. % §RH

3. ¢ o}

4. % HIHRY

Question Number : 194 Question Id : 50389010036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Harbhajan, Parhani Kranti and MDUI1 are varieties of
Options :

1. # Capsicum

2. ¥ Okra

3. % Cabbage

4. ¥ Onion



Question Number : 194 Question Id : 50389010036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EIHSH, TRHUR Hic Td THSI: 1 o1 fpd |

Options :

Question Number : 195 Question Id : 50389010037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Seed plot technique is followed in
Options :

1. ¥ Potato cultivation

2. % Bamboo cultivation

3. % Paddy cultivation

4. # Sugarcane cultivation

Question Number : 195 Question Id : 50389010037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i Wic ab-iid 3{OATS ST 5|
Options :

1. ¢ 3T ! Wt §

2. % S D W

3. % Y I Adl H

4. % TAPAd H



Question Number : 196 Question Id : 50389010038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who recommends the MSP and issue prices farm produce?
Options :

1. # Food corporation of India

2. % Planning Commission

3. ¥ Commission for Agricultural costs and Prices

4. % NABARD

Question Number : 196 Question Id : 50389010038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YR Qe A

2. % YIS 3TN

3. ¢ DY ANTd Ud G SN

4. % A1ETS

Question Number : 197 Question Id : 50389010039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Primary function of marketing includes
Options :

1. # Storage

2. ¥ Procurement

3. % Transport

4. ® Banking

Question Number : 197 Question Id : 50389010039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fauurE & wrfires ord o RUIEGE]
Options :

1. % YSRUT

2. ¢ JUTSA

3. % URagH

4. % Sfd

Question Number : 198 Question Id : 50389010040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Insect used as Biological control of Parthenium hysterophorous is
Options :

1. #® Dactylopius indicus

2. # Dactylopius tomentosus

3. % Zygogramma bicolorata

4. ® Apis indica

Question Number : 198 Question Id : 50389010040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iy fee i Y (Parthenium hysterophorous) CACCATLEIY| %ﬂ UYad CRISIEEISIED gl
Options :

|, % SFISANITY S[SHY (Dactylopius indicus )

2. % éwsaﬁw Eﬁﬁm (Dactylopius tomentosus)

3. ¢ ST aﬁﬁ?ﬁw (Zygogramma bicolorata )

4, % VMUY SfSHT (Apis indica)

Question Number : 199 Question Id : 50389010041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is common weed of Rabi crops?
Options :

1. ¥ Hazardani

2. ¥ Bathua

3. ¥ Makoy

4. # Jangali maruaa

Question Number : 199 Question Id : 50389010041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gORGH!

2. ¥ dYAHI

3. % O

4. % TR el

Question Number : 200 Question Id : 50389010042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bt — cotton contains

Options :

1. * BAR gene

2. # PAT gene

3. % CrylAc gene

4. % Nif gene

Question Number : 200 Question Id : 50389010042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S g A SURA I g

Options :



1. ® BAR OII9
2. % PAT o1

3. ¢ CrylAc SiF
4. % Nif SlF
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Piercing and sucking types of mouth pests are absent in
Options :

1. # Mosquito

2. # Bugs

3. % Leathoppers

4. ¥ Housefly

Question Number : 201 Question Id : 50389010043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ve T3 9% UBR & J@HT Y U TR BId €|
Options :

1. % HwdX

2. % HcHA

3. % TBEIN

4. ¢ O o]

Question Number : 202 Question Id : 50389010044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following insecticide acts both as stomach as well as contact insecticide?
Options :

1. # Aldicarb

2. # Carbofuran

3. ¥ Heptachlor

4. % Rogor

Question Number : 202 Question Id : 50389010044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TGP (Aldicarb)

2. % E|°—|_®|"fcl®:[(Carbofuran)
3. ¢ BPTRIR (Heptachlor)

4, % IR (Rogor)

Question Number : 203 Question Id : 50389010045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did National Extension Service was started in India?
Options :

1. % 1949

2.9 1953

3. % 1967

4. % 1972

Question Number : 203 Question Id : 50389010045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H IS TR JaT 1 Y31 fobd 99 H g2
Options :

1. % 1949

2. %1953

3. % 1967

4. % 1972

Question Number : 204 Question Id : 50389010046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ist state to provide Pashu Kisan Credit Card (PKCC) to the Farmers is



Options :

1. ¥ Haryana
2. # Punjab

3. % Gujarat

4. % Tamilnadu

Question Number : 204 Question Id : 50389010046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohaTl o1 U] shieT HIS U HRI dTd Ugell Iod gl
Options :

1. ¢ g

2. % U9

3. % TORMT

4. % TG

Question Number : 205 Question Id : 50389010047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In “PM Kisan Maan-Dhan Yojana” pension funds are managed by
Options :

1. ¥ NABARD

2. % National Insurance company

3. # Agriculture Insurance company of India Ltd.

4. ¥ LIC of India

Question Number : 205 Question Id : 50389010047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"fied B O ¢ dioT 8 URH DIy TS PRAT 5|

Options :



1. % A1ETS

2. % TP <A1 U fafhes

3. % YR Y A Hul fafies
4. ¢ YR Siig= oA fmm

Question Number : 206 Question Id : 50389010048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Root inducing (R1) plasmid is found in
Options :

1. # A. tumefaciens

2. % A. rhizogens

3. % E. coli

4. % B. subtilis

Question Number : 206 Question Id : 50389010048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
d IARF (Ri) WoHS o U S R
Options :

1. ®# Q. @W(A. tumefaciens)
2. ¢ T RN (A. rhizogens)

3. % 3 HIATS (E. coli)

4. % o, gafeferd (B. subtilis)

Question Number : 207 Question Id : 50389010049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First GM crop approved for human consumption was
Options :

1. ¥ Bt maize



2. % Golden Rice
3. % "Flavr savr" tomato
4. # Bt Brinjal

Question Number : 207 Question Id : 50389010049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT o 8 WIPhd DI T TUH SITH B gl
Options :

1. % oIt Habl

2. % Tee I19d

3. ¢ "TRAGR YR THICY

4. % A dH

Question Number : 208 Question Id : 50389010050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Reserpine is obtained from

Options :

1. ¥ Withania somnifera

2. ®% Atropa belladonna

3. # Papaver somniferum

4. ¥ Rauwolfia serpentina

Question Number : 208 Question Id : 50389010050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % oyt gt (Withania somnifera)
2. % @ajlcu SATSHT (Atropa belladonna)




3. % JUGQ Qg (Papaver somniferum)
4. ¢ JAifeHaT U (Rauwolfia serpentina)

Question Number : 209 Question Id : 50389010051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a water soluble gum?
Options :

1. # Gum tragacanth

2. % Gum Arabic

3. % Gum karaya

4. % Gum sterculia

Question Number : 209 Question Id : 50389010051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g o ¥ o 1 5 A gferd e 82
Options :

1. # m Mg (Gum tragacanth)

2. ¥ 3RAI NG

3. % BTG

4. % TP MG

Question Number : 210 Question Id : 50389010052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Family of Corchorus capsularis is
Options :

1. # Papilionaceae

2. % Arecaceae

3. ¥ Malvaceae



4. % Fabaceae

Question Number : 210 Question Id : 50389010052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRBRY Wﬁ? (Corchorus capsularis) T i ('ClﬁaT"\’) %I
Options :

1. # W(Papilionaceae)

2. % RPN (Arecaceae)

3. ¢ AAaN! (Malvaceae)

4, % W(Fabaceae)

Question Number : 211 Question Id : 50389010053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The “Green Gold” revolution is related to cultivation of
Options :

1. ¥ Bamboo

2. # Coffee

3. ® Cardamom

4. % Tea

Question Number : 211 Question Id : 50389010053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<G I shifd” Wl ¥ Feifd gl
Options :

1. v S DI

2. % DG Bl

3. % g &I

4. % IO DI



Question Number : 212 Question Id
Orientation : Vertical

: 50389010054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Curcumin is chemically known as
Options :

1. ¥ Mannans

2. % Di aryl haptanoids

3. % Hydroquinone

4. ¥ Poly glycerols

Question Number : 212 Question Id
Orientation : Vertical

: 50389010054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
IS =0 9 “hRagiT gl

Options :
1. % HATH (Mannans)

2. ¢ 81 URA gUHITSY (Di aryl haptanoids)

3. % BIQS-A”@:“Q (Hydroquinone)
4. ® AR (Poly glycerols)

Question Number : 213 Question Id
Orientation : Vertical

: 50389010055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Botanical name of Kava Kava is
Options :

1. # Ruscus aculeatus

2. # (assia angustifolia

3. ¥ Piper methysticum

4. ® Piper nigrum

Question Number : 213 Question Id

: 50389010055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HId1 H1dT BT gl -TH %|
Options :

1. % by QEPI@W (Ruscus aculeatus )

2. % HREAT Wﬁ‘ﬂf (Cassia angustifolia)

3. ¢ TSI ARIRe®H (Piper methysticum)
4. ® UISUR ATgYH (Piper nigrum )

Question Number : 214 Question Id : 50389010056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Grassy shoot Diseases (GSD) in Sugarcane is caused by
Options :

1. ¥ Mycoplasma

2. % Albugo candida

3. % Puccinia graminis

4. ® Phytophthora parasitica

Question Number : 214 Question Id : 50389010056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T2 & Ul IRIE (STHS) A7 BT HRb 2
Options :

1. ¢ ATSHITTSHT (Mycoplasma)

2. % W’ﬁ P (Albugo candida)

3. % gfeqfar AMHAY (Puccinia graminis)

4. % BIZSIUIRT IRTATIEHT (Phytophthora parasitica)

Question Number : 215 Question Id : 50389010057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Grey blight of Guava is caused by
Options :

1. # Phomopsis vexans

2. # Mycoplasma

3. # Erwinia amylovora

4. ¥ Pestalotia psidii

Question Number : 215 Question Id : 50389010057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TREC B TR STHRY I BT HRD gl
Options :

1. % AR Joa (Phomopsis vexans)

2. % HISHITITSHT (Mycoplasma)

3. % RIAMAT TASAGRT (Erwinia amylovora)

4. ¢ QXTAIHT RISTS (Pestalotia psidii)

Question Number : 216 Question Id : 50389010058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Constituents of Chaubattia Paste is

Options :

1. # Copper sulphate + Sodium Carbonate + water
2. % Copper Sulphate + Ammonium Carbonate

3. ¥ Copper carbonate + Red Lead + Lanolin

4. % Copper Sulphate + Lime +Water

Question Number : 216 Question Id : 50389010058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Areiedl oY & Yuch gl



Options :

|, % BHIR Jebe + QI STH HIEHCE + o d
2. % BIR b + AT HreHe

3. ¢ BIR BIEMCT + AT JIT + A
4. % HIR el + AT + o

Question Number : 217 Question Id : 50389010059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Per quintal calculated cost is known as
Options :

1. # Cost of farming

2. ¥ Cost of production

3. % Cost of cultivation

4. % Minimum Support Price (MSP)

Question Number : 217 Question Id : 50389010059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 218 Question Id : 50389010060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The technique which protects the traders from extreme falls in price is known as
Options :



1. # Speculation
2. # Future trading
3. ¥ Hedging

4. # Support price

Question Number : 218 Question Id : 50389010060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 b1 STl ATaTRAl ) Hedl H 3ifa fiRrae ¥ s §, HEad gl
Options :

1. % gRebeu

2. % GI BRITR

3. & BT

4. % gU g

Question Number : 219 Question Id : 50389010061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Amphotericin — B is 1st isolated from
Options :

1. # Streptomyces griseus

2. # Penicillium notatum

3. % Streptomyces rimosus

4. ¥ Streptomyces nodosus

Question Number : 219 Question Id : 50389010061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIRRA-digygaR . gy fhar

Options :

1. ® @:@’q@?m (Streptomyces griseus)



2. % UATfead AEeH (Penicillium notatum)

3. % @;@WW (Streptomyces rimosus)
4. & Q’@Tﬁﬁm BISINES] (Streptomyces nodosus)

Question Number : 220 Question Id : 50389010062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cultivation of crops in region with annual rainfall less than 750 mm is called
Options :

1. # Rainfall farming

2. ¥ Dry farming

3. # Dryland farming

4. # Agroforestry

Question Number : 220 Question Id : 50389010062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

750 Tt & Y a1 uf arel &7 & Bl &1 SdTeH FHEAT 5|
Options :

1. % qul ger Bl

2. ¢ T Wil

3. % [ YT P

4. % DY D!
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Question Number : 221 Question Id : 50389010063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prolonged meteorological drought is known as
Options :

1. ¥ Hydrological drought

2. % Atmospheric drought

3. % Agricultural drought

4. # Relative drought

Question Number : 221 Question Id : 50389010063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Jrdeprel At sreTa Hea gl

Options :

1. ¢ gIESIdINIhd BT
2. % gAY DT

3. % PHioGsdt 3T

4. % gUE ATHTA

Question Number : 222 Question Id : 50389010064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The splitting up of water molecules in plant cells in the presence of sunlight is called
Options :

1. # Photophosphorylation

2. # Photosynthesis

3. % Phyto-remediation

4. ¥ Photolysis

Question Number : 222 Question Id : 50389010064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & TR B IUTT T I1ed HIRDT3T T ofd & SHU[3H & AU Bl HEd gl
Options :

1. % HICIHIEhRIARMA (Photophosphorylation)

2. % YPHI YAV (Photosynthesis)

3. % UIqU-3UdR (Phyto-remediation)

4. ¥ YDIR HUYCH (Photolysis)

Question Number : 223 Question Id : 50389010065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is non — symbiotic biofertilizer?



Options :

1. # Anabaena
2. ¥ Azotobacter
3. ¥ VAM

4. #* Rhizobium

Question Number : 223 Question Id : 50389010065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P & A 1 1 IR el 0 IR &7
Options :

1. % QATfSAT (Anabaena)

2. ¥ Q\—rhaéaa (Azotobacter)

3. % 4iUUH (VAM)

4. % JIONGTH (Rhizobium)

Question Number : 224 Question Id : 50389010066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used as nitrification inhibitor?
Options :

1. # Fish Manure

2. % Oil cakes

3. ¥ BGA

4. ¥ Neem cake

Question Number : 224 Question Id : 50389010066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & § foraeT STANT AR SfaRIu® & U H fara SITaT 82

Options :




1. % A3l @G
2. % Tal

3. % §loig

4. ¢ F1 @it

Question Number : 225 Question Id : 50389010067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The linseed fruit is known as

Options :

1. # Caryopsis

2. % Capsule

3. % Head

4. % Pod

Question Number : 225 Question Id : 50389010067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST BT B FEad gl
Options :

1. % BRI

2. ¢ Hd

3. % fRiftge

4. % 9ISt

Question Number : 226 Question Id : 50389010068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The product not made using bagasse is
Options :

1. # Paper



2. # Electricity
3. #* Ethanol
4. « Citric acid

Question Number : 226 Question Id : 50389010068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qs & Iudi ¥ AfHd gard T gl
Options :

1. % TR

2. % faoreit

3. % QYA

4. H13fch 3

Question Number : 227 Question Id : 50389010069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Duration of boot leaf stage in wheat in north Indian region is
Options :

1. % 30-35 DAS

2. % 45-50 DAS

3. ¥ 70-75 DAS

4. % 95-100 DAS

Question Number : 227 Question Id : 50389010069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R YR &30 & 71g T ¢ Ul ST 1 3afd gl
Options :

1. % §a1s & 30-35 fqA 918

2. % §aTs & 45-50 faT 91



3. ¢ §a1s & 70-75 feA a1
4. % g5 & 95-100 faT 91

Question Number : 228 Question Id : 50389010070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nipping in chicken is a process to
Options :

1. ¥ Enlarge branching

2. # Protect plant against lodging

3. % Reduce plant height

4. # Kill insects

Question Number : 228 Question Id : 50389010070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o H Rt &) ufspar 1 & foTe SO S B
Options :

1. ¢ T3 BT AR

2. % QIY Y 383 I M

3. % QY 1 $HaTs HH B

4. % Pl HI ARA

Question Number : 229 Question Id : 50389010071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Stored grain pest Sitophilus oryzae belongs to the order
Options :

1. # Lepidoptera

2. ¥ Coleoptera

3. ¥ Diptera



4. ¥ Hymenoptera

Question Number : 229 Question Id : 50389010071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TURd 3 &1 B Ricihay iRk (Sitophilus oryzac) T Heferd mTor %I
Options :

1. # aﬁ@'@ﬂ(Lepidoptera)

2. ¢ PHITAPT (Coleoptera)

3. % %@W(Diptera)

4, % E'I—&rm:h@?T(Hymenoptera)

Question Number : 230 Question Id : 50389010072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During fumigation Aluminium Phosphide upon contact with moisture releases
Options :

1. ¥ PH;

2. % CO

3. % CHy

4. % H3POy4

Question Number : 230 Question Id : 50389010072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT & SRM, THATH Biephlss TH & Tudh H 3 & §Ig BIEnIE]
Options :

1. ¥ PH;

2. % CO

3. % CHy



4. % H;PO,

Question Number : 231 Question Id : 50389010073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Helicoverpa armigera is an insect pests of
Options :

1. ¥ Wheat

2. % Papaya

3. % Apple

4. ¥ Chickpea

Question Number : 231 Question Id : 50389010073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁlﬁatﬁ SMHTRT (Helicoverpa armigera) [ PIc Uledh %I
Options :

1. % 7g

2. % UUd

3. % g

4.4 94

Question Number : 232 Question Id : 50389010074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The quickest method of plant breeding is
Options :

1. # Introduction

2. ® Selection

3. ¥ Mutation breeding

4. ¥ Hybridization



Question Number : 232 Question Id : 50389010074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OTGU Yol &1 @d fafd gl
Options :

1. % A=

2. % TIgq

3. ¢ IaRafd us

4. % BT

Question Number : 233 Question Id : 50389010075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The apical meristem of shoot apex is
Options :

1. # Lateral meristem

2. ¥ Primary meristem

3. % Secondary meristem

4. # Intercalary meristem

Question Number : 233 Question Id : 50389010075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
iy IRIE %1 =i favsdias gl
Options :

1. % g fausdids

2. ¢ U fqHTiaes

3. % fgfaus favsdide

4. % 3fcaif favsdids



Question Number : 234 Question Id : 50389010076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Breeding crops for improving nutritional quality is referred to as
Options :

1. #* Biomining

2. % Biomagnification

3. # Bioamplification

4. ¥ Biofortification

Question Number : 234 Question Id : 50389010076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR UIYUT b1 T[0Tl o B! bl Yol HEAI gl

Options :

1. % SIg@—

2. % g Y

3. % 99 yaeH

4. SRAGITE B HRE

Question Number : 235 Question Id : 50389010077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Heterosis lost due to continuous breeding of related individuals is known as
Options :

1. % Hybrid vigour

2. # Outbreeding depression

3. ¥ Inbreeding depression

4. ® Mutation

Question Number : 235 Question Id : 50389010077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Hafid fddl & fFRER U ¥ HhR SIS &7 ¢ BT HEAI g

Options :

1. % grefs faR

2. % §fg: U 3aUR
3. ¢ 3[{d: UslH 3ddlq
4. % IANTdT

Question Number : 236 Question Id : 50389010078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
First successful pollen culture was done by
Options :

1. ¥ Guha and Maheswari

2. # Murashige and Skoog

3. % Haberlandt

4. ¥ H.G. Khorana

Question Number : 236 Question Id : 50389010078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AUy Yhadyded AT Hae-  gRI fdar |
Options :

1. ¥ 75T ud HoaRl

2. % W Td IHTT (Murasige and Skoog)

3. # QERAS (Haberlandt)

4. % TSI, QAT

Question Number : 237 Question Id : 50389010079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Chromosome number in Triticum aestivum is
Options :

1. % 14

2. % 21

3.9 42

4, % 27

Question Number : 237 Question Id : 50389010079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefeern Ufean # TuRE @ g=m gl
Options :

1. % 14

2. % 21

3.9 42

4. % 27

Question Number : 238 Question Id : 50389010080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who developed “IR 36”7

Options :

1. # H.M. Beachell

2. # N.E. Borlaug

3. # Dr. H.G. Khorana

4. ¥ Dr. Gurdev S. Khush

Question Number : 238 Question Id : 50389010080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"3MT3 3R 36" fbgeh gRT ey fobar mar

Options :



1. % TI.UH. didd
2. % T3 SRAN
3. % I TSl GRA
4.+ 81 Red G

Question Number : 239 Question Id : 50389010081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First Allopolyploid cereal crop developed by man is
Options :

1. # Hordeum vulgare

2. % Raphanus brassica

3. ¢ Triticale

4. % Triticum aegiloploids

Question Number : 239 Question Id : 50389010081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS GRT fAwRid Tud URIfOrd ST &1 Had gl
Options :

1. % BfSTH @R (Hordeum vulgare)

2. % HAY JRYPT (Raphanus brassica)

3. ¢ fefedhd (Triticale)

4. % fefepy QfoTen Lﬂ\lss\{-l (Triticum aegiloploids )

Question Number : 240 Question Id : 50389010082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are not triple gene dwarf varieties of wheat?
Options :

1. # Hira, Moti



2. # Jawabhar, Jyoti
3. # HD- 1977, UP- 301
4. % Sonalika, Sonora-64

Question Number : 240 Question Id : 50389010082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o B QB <t forw T @t Bor o ot fop et 22

Options :

1. % g, Al

2. % SaTgR, Jifd

3. % WISl 1977, g4l -301

4.« T, YHRT-64
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Question Number : 241 Question Id : 50389010083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Term nobilization was 1st related to which crop?
Options :

1. # Potato

2. ¥ Sugarcane

3. % Sugarbeet

4. % Onion

Question Number : 241 Question Id : 50389010083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teg PRI BT YUH IR fhg Bad & SgH & Iuai far mam
Options :

1. % 3]

2. ¥ I

3. % Fha

4, % U9

Question Number : 242 Question Id : 50389010084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the non ionizing radiations?
Options :

1. ¥ X-rays

2. % Gamma rays

3. % UV-rays

4. % Alpha rays

Question Number : 242 Question Id : 50389010084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= & § S A1 IR sma-ipd fafemrur g2
Options :

1. % X - fo0l

2. % T77HT {hRul

3. ¥ TRISTH faol

4. % el fHul

Question Number : 243 Question Id : 50389010085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Golden rice variety is rich in

Options :

1. ¥ B-carotene

2. # Vitamin -E

3. % Vitamin—C

4. # Vitamin-B-12

Question Number : 243 Question Id : 50389010085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 39" fore § wfod Amm d gl

Options :



1. ¢ p-PpRife

2. % fgerfiAg

3. % ferfia-at
4. % faerfA-di-12

Question Number : 244 Question Id : 50389010086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wild life Protection act was enacted in India in which of the year?
Options :

1. % 1967

2. % 1972

3. % 1973

4. % 1981

Question Number : 244 Question Id : 50389010086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H a7 Si1q TRe07 iAoy foow v o @ foear mam
Options :

1. % 1967

2.9 1972

3. % 1973

4, % 1981

Question Number : 245 Question Id : 50389010087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Joint forest management (JFM) concept was first came into force in
Options :

1. # Mandala (Madhya Pradesh)



2. # Ayyalur (Tamilnadu)
3. ¥ Arabari (West Bengal)
4. % Ambikapur (chhattisgarh)

Question Number : 245 Question Id : 50389010087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g o Ty (HTHTH) FebelT GUH TR GHIT H 3
Options :

1. % HESdT (T Ue)

2. % R (@AATY)

3. ¢ 3RIERT (UTEH &)

4. % TP (STURTG)

Question Number : 246 Question Id : 50389010088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Scientific name of Lion- tailed macaque is
Options :

1. ¥ Macaca mulatta

2. ¥ Macaca silenus

3. # Macaca fascicularis

4. % Macaca fuscata

Question Number : 246 Question Id : 50389010088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT T HbTh’ P AN 19 gl

Options :
1. % HPpID] Hﬁ?{ (Macaca mulatta)
2. ¢ DD AT (Macaca silenus)




3. % HbIDI W?RJ\FITN (Macaca fascicularis)

4. % AHTH] TR el (Macaca fuscata)

Question Number : 247 Question Id : 50389010089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Klenow fragment is derived from
Options :

1. ¥ DNA Pol I

2. % RNA Pol I

3. # Helicase

4. % DNA Ligase

Question Number : 247 Question Id : 50389010089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ESRIRCLS) RRISKGIE
Options :

1. ¢ SITAT U [

2. % IRTAY T I

3. % gicihel

4. % ST A

Question Number : 248 Question Id : 50389010090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Elicitors are molecules that

Options :

1. ® Initiate cell division

2. ® Causes chromosomal doubling

3. ¥ Stimulate production of secondary metabolites



4. ® Are responsible for cell cycle arrest

Question Number : 248 Question Id : 50389010090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THRIeR 98 MU BId § ol fdb |
Options :

1. % PIRIBT TAUTSH Bt LF T PR §

2. % TUREA BT GIGIHRU B &

3. ¢ fgdia =Rl & Sdre & IORd HRd §
4. % DB T H THIae & fog FER g1 §

Question Number : 249 Question Id : 50389010091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The gene in Ti Plasmid responsible for the transfer of T-DNA into host plant is
Options :

1. # OriGene

2. % Qcs gene

3. # Cyto genes

4. ¥ Vir genes

Question Number : 249 Question Id : 50389010091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VM (Ti) WS & ST off ! D Y H A-BITTT & RIHIARU 8 ScRar] gl
Options :

1. % Ori SiiF

2. % Ocs SIH

3. % Cyto SiF

4. ¥ Vir o9




Question Number : 250 Question Id : 50389010092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The selectable marker gene npt —II confers resistance to the antibiotics
Options :

1. % Hygromycin

2. ¥ Kanamycin

3. % Streptomycin

4. % Bleomycin

Question Number : 250 Question Id : 50389010092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAarifes SaH Ridacad AR S npt-11 UfaRIY UG HRdT 8, I8 &
Options :

1. % E'I—{mﬂTg@f:T(Hygromycin)

2. ¢ HAMRNA (Kanamycin)

3. % W(Streptomycin)

4, ® W(Bleomycin)

Question Number : 251 Question Id : 50389010093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following bacteria is a source of 'luc' gene that encodes luciferase enzymes?
Options :

1. # Escherichia coli

2. % Agrobacterium tumefaciencs

3. ¥ Photonus pyralis

4. ¥ Agrobacterium rhizogenes

Question Number : 251 Question Id : 50389010093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e & QI 1 SfaTy] RIS fbUde T eata B T Wi uc' BT Tlid 672
Options :

1. % TR Bl (Escherichia coli)

2. % @W _&‘[&-IW'QTH (Agrobacterium tumefaciencs)

3.¢ mm (Photonus pyralis)

4. ® Eﬁﬁ%ﬁuﬂ N 3\_7“\_7”:\‘:1 (Agrobacterium rhizogenes)

Question Number : 252 Question Id : 50389010094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which chemical is used as lye- peeling of vegetables?
Options :

1. ¥ NaOH

2. ® N212CO3

3. ¥ CH;COOH

4. % NaHCO;

Question Number : 252 Question Id : 50389010094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & 9 3 H A1 T il &1 ars difel T B IudT gidT 82
Options :

1. ¥ NaOH

2. % Na,CO4

3. ¥ CH3COOH

4, # NaHCO;

Question Number : 253 Question Id : 50389010095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Blanching is commonly done in vegetable industry to deactivate
Options :

1. # Bacteria

2. % Moulds

3. % Enzymes

4. ® Spores

Question Number : 253 Question Id : 50389010095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yoot e H faquf g 1 AT FH3 T 1 5
Options :

1. % Siarorsfi

> * g

3. & GeRHl

4. % SISITogai

Question Number : 254 Question Id : 50389010096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What kind of packaging works will with high pressure processing (HPP)?
Options :

1. # Glass containers

2. % Metal containers

3. % Plastic pouches & bottles

4. % Paper Board carton

Question Number : 254 Question Id : 50389010096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



J=d 1a TR (Tadidh & fd UaR & e date gg Sugad 81?
Options :

1. % T & fSsd (@dam)

2. % Y1 & fesd (Adam)

3. ¢ WIReH U134 Ud dicd

4. % TR NS HIeA

Question Number : 255 Question Id : 50389010097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Central Institute of Post Harvest Engineering and Technology (CIPHET) is located at
Options :

1. # Karnal

2. % Ludhiana

3. % Amritsar

4. % Hissar

Question Number : 255 Question Id : 50389010097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iod Hers IuRiT HfgifAfe ud Ulenfiifes Y= (CIPHET) # IufRE B
Options :

1. % DA

2. AT

3. % HHIWM

4. % fgOR

Question Number : 256 Question Id : 50389010098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following gas is not a green house gas?



Options :

1. # Nitrous oxide
2. ¥ Methane

3. % Ozone

4. ¥ Nitrogen

Question Number : 256 Question Id : 50389010098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 &9 @ 9 I grew g Ad R
Options :

1. % 3¢y HlEe

(Nitrous oxide)

2. % T4 (Methane)

3. % 3o (Ozone)
4.9 ?E@W:T(Nitrogen)

Question Number : 257 Question Id : 50389010099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Evaporative cooling in Green house reduces
Options :

1. ¥ Temperature

2. % Moisture

3. # Relative humidity

4. % Quality production

Question Number : 257 Question Id : 50389010099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qiihd 38 9§ U eT39 HHBA B
Options :




1. ¢ dqHHE

2. % =H]

3. % FUfére 3Mmean
4. % ToraTqof I@TeA

Question Number : 258 Question Id : 50389010100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suitable variety of banana for protected cultivation is
Options :

1. # Champa

2.% G-9

3. % Singapuri

4, % Namarai

Question Number : 258 Question Id : 50389010100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Tell 8 Pl B SuGad fbeA &l
Options :

1. % a1

2. ¥ W19

3. % g

4. % AHARTS

Question Number : 259 Question Id : 50389010101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The largest crop area covered by drip irrigation in India under
Options :

1. # Vegetable crops



2. % Orchards
3. % Plantation crop

4. # Fibre crops

Question Number : 259 Question Id : 50389010101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd 7 eues Rirs (Fgu Rimmg) & eiafa faena &= & envifRyd waa g
Options :

1. % Gfeorgl Bl thacd

2. ¢ Bl

3. % gETH had

4. % Y ITcll O

Question Number : 260 Question Id : 50389010102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
First stage of erosion process is

Options :

1. # Gully erosion

2. # Rill erosion

3. % Splash erosion

4. % Sheet erosion

Question Number : 260 Question Id : 50389010102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&RUT UfhT Bt UUH ST g
Options :

1. % 3{qIeTahT &RUT
2. % X eRur



3. ¥ BU &R

4, % U AR
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Question Number : 261 Question Id : 50389010103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Sustainable agriculture does not includes
Options :

1. ¥ Ecological farming

2. % Organic farming

3. ¥ Permaculture

4. % Commercial farming

Question Number : 261 Question Id : 50389010103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fers @it # RUECERE]
Options :

1. % OIRIRYfAD Weft

2. % PHEMHD Well

3. % JHIpeR

4. HAHIAD Well

Question Number : 262 Question Id : 50389010104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Drawback of shifting cultivation is that, it causes
Options :

1. ¥ soil erosion

2. # s0il pollution

3. % water logging

4. # growth of more weeds

Question Number : 262 Question Id : 50389010104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RN Tl & Jad I8! HHI § b, T8 HT HRUI Sl B

Options :



1. ¢ Y-&R

2. % &I UgyUl

3. % Od W1

4. % 3P WUJAR DI IART

Question Number : 263 Question Id : 50389010105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Placing a high price on a product because of a lack of competition is termed as
Options :

1. # Revenue

2. ¥ Price skimming

3. # Selling price

4. # Price point

Question Number : 263 Question Id : 50389010105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

yferegef 1 3rura H foblt IdTe B = BT TG EERIGIE

Options :

2. v oy et (gea R
3. % fdpy g
4. % Diq foig

Question Number : 264 Question Id : 50389010106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Total amount received from the product sales is
Options :

1. * Price Point



2. % Loss
3. ¥ Revenue
4. # Selling price

Question Number : 264 Question Id : 50389010106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IdIE & fahT I U o g FHEATT 5|
Options :

1. % DiHd foig

2. % gIA

3. ¥ XN

4. % fahT g

Question Number : 265 Question Id : 50389010107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chromosomal theory of inheritance was proposed by
Options :

1. # William Bateson

2. % Gregor Mendel

3. % Knoll and Ruska

4. ¢ Sutton and Boveri

Question Number : 265 Question Id : 50389010107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4RIshH o UREH Rigid o1 fovee ufafcd foasam am
Options :

1. % fafera sco

2. % PR HSH




3. % I 3R SH
4. ¢ e R A

Question Number : 266 Question Id : 50389010108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A television advertisement placed on one station in one market is
Options :

1. # Benefit

2. ¥ Spot advertisement

3. % Outdoor advertisement

4. % Native advertisement

Question Number : 266 Question Id : 50389010108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh il Toh ST6IR B Teh RITF W Tl IR U¥dd Ueb faqimo= DHEad|
Options :

1. % <Y

2. ¢ Wie fazmu

3. % el faqmo=

4. % ¢S fagmoA

Question Number : 267 Question Id : 50389010109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In tree ecosystem, pyramid of numbers is
Options :

1. ¥ inverted

2. % upright

3. % horizontal



4. % not in existence

Question Number : 267 Question Id : 50389010109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gef o TIRfRUfI 7 37! o1 fRifirs I 5|
Options :

1. % 3l

2. % e

3. % &fers

4. % g faga

Question Number : 268 Question Id : 50389010110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Book written by conservationist Rachel Carson is
Options :

1. % Red Data Book

2. % Systema Naturae

3. ¥ Silent spring

4. ¥ Ecology

Question Number : 268 Question Id : 50389010110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TREUIEATE! Rad SR gRT faRad farara gl
Options :

1. % Y& ST b

2. # Remr AR

3. ¢ Wigie i

4. % gapIaloh




Question Number : 269 Question Id
Orientation : Vertical

: 50389010111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Horse drawn Seed drill was developed by

Options :

1. % T. H. Morgan

2. % James small

3. # Justus von Liebig
4. ¥ Jeethro Tull

Question Number : 269 Question Id
Orientation : Vertical

: 50389010111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
el aferd die fod gRT faep Ry fovam |

Options :

1. % U9 9

2. ¥ S WA

3. % SRy 9 ferfam
4. S g

Question Number : 270 Question Id
Orientation : Vertical

: 50389010112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
The carburetor of an engine is used to mix fuel with which of the following?

Options :

1. ¥ Air

2. % 0Oil

3. % Water
4. # Coolant

Question Number : 270 Question Id

: 50389010112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A 7 3 fpgd Ty fiyyor & fore 3o # S1aRex o1 IUAT foodn ST 892
Options :

|« gl

2. % qd

3. % S

4. % da®

Question Number : 271 Question Id : 50389010113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

First modern internal combustion engine was invented by
Options :

1. % James watt

2. ¥ Nicolaus Otto

3. ¥ Rudolf Diesel

4. ¥ Thomas Edison

Question Number : 271 Question Id : 50389010113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YD ATARD T8 oI BT HfIBR = fepar|
Options :

1. % SRIAIC

2. ¢ Hpleg siic

3. % F[eh Siold

4, % YAy ufggq

Question Number : 272 Question Id : 50389010114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Fairy ring disease of lawn grasses is caused by soil borne
Options :

1. * Virus

2. ¥ Fungus

3. ¥ Bacteria

4. % Nematode

Question Number : 272 Question Id : 50389010114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Y °ie | gt R T BT HRUT e S gl
Options :

1. % fqury

2. ¥ B

3. % qadiia

4. % JHICIS

Question Number : 273 Question Id : 50389010115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Baby born to an Rh negative mother and Rh Positive father may suffer from
Options :

1. % Methemoglobinemia

2. # Septicimea

3. % Erythroblastosis fetalis

4. ¥ Aplastic anemia

Question Number : 273 Question Id : 50389010115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U® 3RTT (Rh) AAfed AT Td 3RTI (Rh) Tiroifed forar & o1 s= J Uifsd gt g g



Options :

1. % ARG (Methemoglobinemia )

2. % AT (Septicimea)

3. ¢ TRUISIRCIIY WICTeN (Erythroblastosis fetalis)
4. % IANGfCH TANHAT (Aplastic anemia)

Question Number : 274 Question Id : 50389010116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cells does not contain nucleus?
Options :

1. # Neutrophills

2. ® Eosinophils

3. # Lymphocytes

4. ¥ Mature RBCs

Question Number : 274 Question Id : 50389010116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 & O g DIReT § b 15l oIl 82

Options :

1. # :‘@W\q (Neutrophills)

2. % SYIRMAIMT H (Eosinophils)

3. % ﬁmﬁmﬁ (Lymphocytes)

4. ¥ ORUS 3RS H (Mature RBCs )

Question Number : 275 Question Id : 50389010117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following organs is a primary lymphoid organs?
Options :



1. # Spleen

2. ¥ Thymus

3. % Lymph nodes
4. % Liver

Question Number : 275 Question Id : 50389010117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g B QB U 3T flhTad 3T 82
Options :

1. % TGl

2. ¥ YIRHY

3. % AP

4. % god

Question Number : 276 Question Id : 50389010118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Histamines are produced by

Options :

1. % Eocinophils

2. % RBCs

3. ¥ Mast cells

4. % Lymphocytes

Question Number : 276 Question Id : 50389010118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fECTHIS BT TG AT
Options :

1. ® mﬁW(Eocinophils)




2. % 3R (RBCs)
3. ¢ HRC DIRBY (Mast cells)
4. % fMRIATSAY (Lymphocytes)

Question Number : 277 Question Id : 50389010119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of change in the species structure of an ecological community over time is known as
Options :

1. ¥ Ecological succession

2. % Nudation

3. # Migration

4. % Invasion

Question Number : 277 Question Id : 50389010119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A & THy & A1y [t uikiRUfas THer & TSI AT BT HHRT: TGl o] CaIGI
Options :

1. ¢ UIRIRUfAS ITRIMYBR

2. % W'T(Nudation)

3. % YUdN

4. % U9

Question Number : 278 Question Id : 50389010120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a non- renewable energy source?
Options :

1. ¥ Geothermal Energy

2. % Solar Energy



3. % Tidal Energy
4. ¥ Uranium

Question Number : 278 Question Id : 50389010120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8§ B SFdIexig SHell TH1HM g7
Options :

1. % Yddta Sl

2. % R Sl

3. % SIRN Kol

4. ¢ R

Question Number : 279 Question Id : 50389010121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Biodiesel produced from fats or vegetable oils by the process of
Options :

1. # distillation

2. ¥ transesterification

3. ® fermentation

4. ® mining

Question Number : 279 Question Id : 50389010121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT ST AT Al Y SlaS o SdTfad B Bt Ufeha gl

Options :

1. # 3H{dH (distillation)

2. ¥ ;iw»&cé‘li\m&w—i (transesterification)
3. % ﬁwa:f(fermentation)




4. % G- (mining)

Question Number : 280 Question Id : 50389010122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which was the first solar powered aircraft to complete a circumnavigation of the earth?
Options :

1. # Solar Impulse -1

2. ¥ Solar Impulse -2

3. % Solar Impulse -3

4. # Space -X

Question Number : 280 Question Id : 50389010122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gedt &1 URHHUT T H= aTell Wi ifad & Hanferd v faam g2

Options :
1. % GIeR 30ed - 1
2. ¢ HIeR 3 - 2
3. % YR $9e9 - 3
4. % WI-TH
Teaching Methodology
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Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 50389010123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Father of cognitive psychology is:
Options :

1. ® Robert Marzano

2. % Ulric Neisser

3. % Kund Illeris

4. % G. A. Miller

Question Number : 281 Question Id : 50389010123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS HATA & S -

Options :



1. % A AT
2. ¢ JARD AR
3. % $e TR
4. % S U AR

Question Number : 282 Question Id : 50389010124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Expression of state of mind of human towards any person, object or situation is termed as:
Options :

1. # Learning

2. % Accretion

3. ¥ Belief

4. % Values

Question Number : 282 Question Id : 50389010124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foralt ot curfda, avg o RIS 3n1fe & wfa Ta &t 17: Rufa &1 siftyaafade<or seardr &
Options :

1. % 3{feRTH

Question Number : 283 Question Id : 50389010125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Jean Piaget’s theory of cognitive development period of pre-operational stage is:
Options :

1. # 0-2 years



2. ¥ 2-7 years
3. % 7-12 years
4. % 12-15 years

Question Number : 283 Question Id : 50389010125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S foraTot & ST A & Rigid & SR Od-AihaTatd SawT &1 3fafy 8:
Options :

1. % 029y

2. ¥ 2794

3. % 71299

4. % 12-159Y

Question Number : 284 Question Id : 50389010126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the beliefs of Constructivism learning theory knowledge is not:
Options :

1. # internally constructed

2. % evolutive

3. % social and cultural

4. ¥ transferable

Question Number : 284 Question Id : 50389010126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfHfaare st Rigr & AaraR®, I 76! 6:
Options :

1. ® 3fidives Fftd

2. % fqpra=ita




3. % AT 3R TRPpidw
4. ¥ EXIORUTY

Question Number : 285 Question Id : 50389010127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A child is born like a blank slate’. This statement was first made by:
Options :

1. # Brunner

2. # Piaget

3. % John Locke

4. # Skinner

Question Number : 285 Question Id : 50389010127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Fed] S Y U Wl 981 1 ave gidl o° I8 HY Ugal aR e Fal:
Options :

1. ® §RA

2. % fUgr A

3. ¥ S Al A

4. % REPRA

Question Number : 286 Question Id : 50389010128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an audio-visual aid?
Options :

1. # News paper

2. % Television

3. % Radio



4. % Postcard

Question Number : 286 Question Id : 50389010128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafRad o ¥ HIF-91 9o0- 230 e 8
Options :

1. # JHRR UA

2. ¢ Caiifde

3. % &l

4. % URC DTS

Question Number : 287 Question Id : 50389010129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Concept of inspection was first introduced in:
Options :

1. # France

2. # India

3. % China

4. ¥ England

Question Number : 287 Question Id : 50389010129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAR1&01 BT FeheU1 ¥ UYH IR UR=Y DHRA]-
Options :

1. % g A

2. % YRAA

3. % 944

4. ¥ TS



Question Number : 288 Question Id : 50389010130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Word “kinesthetic” is basically derived from:
Options :

1. # Kinematics

2. # Kinesics

3. ¥ Kinesthesia

4. % Kinetochore

Question Number : 288 Question Id : 50389010130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UIREC AR CAR G ACE S

Options :

1. % PlgAacH

2. % BRI

3. ¢ BIARIRETY

4. % PIEACTHR Y

Question Number : 289 Question Id : 50389010131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of crisis did Erik Erikson have discussed during adolescence stage?
Options :

1. # Trust vs mistrust confussion

2. ¥ Identity vsrole confussion

3. # Integrity vsdesperate confussion

4. % Satisfaction vsdissatisfaction confussion

Question Number : 289 Question Id : 50389010131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR TREHIT 7 T IRERIT H {59 UHR & e o1 d1d Hel 82
Options :

1. % fayrg 9919 Mfayrg uq

2. ¢ UG S0 YHbT YA

3. % gAY §97F A= yq

4. % I g9 Ay YH

Question Number : 290 Question Id : 50389010132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Daniel Stufflebeam and colleagues (1960) developed:
Options :

1. ¥ CIPP evaluation model

2. % Input, process, output, outcome

3. % Four levels learning evaluation

4. ® Fixed mindset approach for assessment

Question Number : 290 Question Id : 50389010132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TwadH SR Tl (1960) 3 fawRid farar:
Options :

1. ¢ Hremedidt geie disd

2. % 3{qT, Ufehar, UaT, giumd (318 Ut 8ih) Arsd

3. % YR TR MU Gedihd Aigd

4. % 3fieber g oS HISS I JUNH

Question Number : 291 Question Id : 50389010133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

National mission for empowerment of women was launched on:
Options :

1. # 15th August 1999

2. % 22nd January 2015

3. % Ist April 2007

4. % 8th March 2010

Question Number : 291 Question Id : 50389010133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS Higd RIfakich=uT R BT Y31 gs:
Options :

1. % 15 X 1999

2. % 22 §FeRT 2015

3. % 1 37U 2007

4.+ 8T 2010

Question Number : 292 Question Id : 50389010134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Number of letters in Greek Script is:
Options :

1.9 24

2. %26

3. % 28

4. % 32

Question Number : 292 Question Id : 50389010134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Il o s1erRt @t Tem §:



Options :
1. ¥ 24
2. % 26
3. % 28
4, % 32

Question Number : 293 Question Id : 50389010135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Long transactional text does not includes-
Options :

1. # official or formal letter

2. # internal memorandum

3. % dialogue

4. ¥ invitation

Question Number : 293 Question Id : 50389010135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g6d SR fawy-awg # afeferd el §-
Options :

1. % SMRIPING a1 = U

2. % 3idRe U

3. % BIganT

4. ¢ S{THAV UF

Question Number : 294 Question Id : 50389010136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sexual harassment of women at workplace (prevention prohibition and redressal ) Act came into force on:
Options :



1. # 14th Nov 2012
2. % IstJan 2016
3. % 9th Dec 2013
4. #* 26th Jan 2013

Question Number : 294 Question Id : 50389010136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afearsit &1 Friwd R dfiesadisy (Rarur, ufavy vd ufad) s aw gua & sm:
Options :

1. # 149deR 2012

2. % 1 SHaRI 2016

3. ¢ 9 fadsR 2013

4. % 26 SHd3 2013

Question Number : 295 Question Id : 50389010137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Exhibition is generally indicated for:
Options :

1. ¥ Fine arts

2. % Art of music

3. % Artof dance

4. % Art of singing

Question Number : 295 Question Id : 50389010137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y-t I UREe gidl @

Options :

1. ¢ qferd Hal Dt




2. % fid Har DI
3. % I HaAl bl
4. % T HAT I

Question Number : 296 Question Id : 50389010138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not associated with pragmatism in education?
Options :

1. # Purposive Education

2. % Experience Based Education

3. % Education with Social function

4. ¥ Education for self realization

Question Number : 296 Question Id : 50389010138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & @ @ Rien & Sagrare ¥ et 76 82
Options :

1. % Jexgyqul fRref

2. % 3[IYd YT fRrem

3. % 1 & Ay Ao S

4. 3T <Y & ferg e

Question Number : 297 Question Id : 50389010139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The best method to study growth and development in child is?
Options :

1. ¥ Development Method

2. % Psychoanalytic Method



3. % Comparative Method
4. % Statistical Method

Question Number : 297 Question Id : 50389010139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g H gfg 3R fawT &1 S1eqg o3 & gay srea! fafd) &-
Options :

1. ¢ ARSI fafe

2. % HAIfIRAUTEHS fafd

3. % oIS fafY

4. % gD fafy

Question Number : 298 Question Id : 50389010140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not related to educational achievements?
Options :

1. % Experience

2. ¥ Heredity

3. # Self-learning

4. ® Practice

Question Number : 298 Question Id : 50389010140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 H 8 B Qeffore Iuais J Feifdd 181 82

Options :
1. #® 3JHd
2. ¢ S{ARIDH

3. % WYy



4. % A

Question Number : 299 Question Id : 50389010141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the brain contain centre for vision and hearing?
Options :

1. #* Frontal lobe

2. % Parietal lobe

3. % QOccipital lobe

4. ¥ Temporal lobe

Question Number : 299 Question Id : 50389010141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTSD o by T H P Tdl Yaur ifeki b b JUTRIT Bl &7
Options :

1. % SAICHIT

2. % U U

3. % URDUIT HIT

4. % PIfcTh HIT

Question Number : 300 Question Id : 50389010142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The teaching methods like debate and discussions, teaching while travelling, euristic and activity method are proposed by:
Options :

1. # Swami Vivekanand

2. % Mahatma Gandhi

3. # Ram Krishna Paramhansha

4. ¥ Ravindranath Tagore



Question Number : 300 Question Id : 50389010142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRreror fafdr S Pt adb-fadds ©d =i, am & ary Rueon, 3T ud fafafer senfyd o1 ufqurfed fear-

Options :

1. % it fadee A
2. % T e A

3. % M HUURAGH A
4. ¢ Wig MY TR A




